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QUADRATIC EQUATIONS

1. Classify the following polynominals as linear
and quadratic:

(i)bx + 9


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_JCyVD5g7gwwg

iz + 3z — 5

(i) 3z — 7
(iv) 322 — 5z
(v) 5>

° Watch Video Solution

2. Write the polynominals in the index form.

Observe the coefficients.

(i)z* + 3z — 5, (44)3z* — bz, (i4i)5x?,

° Watch Video Solution



https://dl.doubtnut.com/l/_JCyVD5g7gwwg
https://dl.doubtnut.com/l/_EGPBiZODx1wg
https://dl.doubtnut.com/l/_RUwhU1WLbBIq

3. Complete the following table:

X-4=0 |, o 4
Y =2-1
X +2x=0

o Watch Video Solution

4. Decided which of the following are
quadratic equations ?

(i) 9y* + 5 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_RUwhU1WLbBIq
https://dl.doubtnut.com/l/_A785ENJCTyKA

5. Decided which of the following are

quadratic equations ?

(i)m> —5m? +4 =0

o Watch Video Solution

6. Decide which of the following are quadratic

equations :

(m+2)(m—5) =0

o Watch Video Solution



https://dl.doubtnut.com/l/_LIpLZ73eDKlP
https://dl.doubtnut.com/l/_G1V3yh8jVQmP
https://dl.doubtnut.com/l/_dv9wYUA3nPdC

7. For the quadratic equation
222 — x — 10 = 0 check whether
e = — 2
are roots or not?
° Watch Video Solution
8. For the quadratic equation

222 — £ — 10 = 0 check whether

=5
(i) x = 5

are roots or not?

o Watch Video Solution



https://dl.doubtnut.com/l/_dv9wYUA3nPdC
https://dl.doubtnut.com/l/_rtTTfV0Zi7Fo

9. One of the roots of the quadratic equation

kr? — 14z — 5 = 0is 5. Find the value of k .

o Watch Video Solution

10. Find the factors of the following
polynominals.

i)z — 4z — 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_rtTTfV0Zi7Fo
https://dl.doubtnut.com/l/_25OgjHLPmGCx
https://dl.doubtnut.com/l/_Zty37Az0gygy
https://dl.doubtnut.com/l/_P2eKsDbFVLfE

1. Find the factors of the following
polynominals.

(ii) 2m* — 5m.

o Watch Video Solution

12. Find the factors of the following

polynominals.

(i) a® — 25.

o Watch Video Solution



https://dl.doubtnut.com/l/_P2eKsDbFVLfE
https://dl.doubtnut.com/l/_bdvoLlKxEiFg
https://dl.doubtnut.com/l/_jOh8kOxw19sT

13. Solve z? — 9z + 20 = 0 by factorisation

method.

o Watch Video Solution

14.Solve : 422 + 5z +1 = 0.

o Watch Video Solution

15. Determine nature of roots of the quadratic

equation : z° + 2z — 9 = 0.

l o Watch Video Solution


https://dl.doubtnut.com/l/_jOh8kOxw19sT
https://dl.doubtnut.com/l/_nU1tXW5W31ar
https://dl.doubtnut.com/l/_uZRWokFUs8Ra

16. If sum of the roots of quadratic equations
is 10 and the product is 9, then form the

quadratic equation:

o Watch Video Solution

17. What will be the quadratic equation if

a=20=05>.

o Watch Video Solution



https://dl.doubtnut.com/l/_uZRWokFUs8Ra
https://dl.doubtnut.com/l/_8k7xBHLGNw1K
https://dl.doubtnut.com/l/_uSemaBRPYnE0

18. The product of two consecutive natural

number is 240. Find the numbers.

o Watch Video Solution

19. Classify the following polynominals as
linear and quadratic:

(i) oz + 9

(i) z* + 3z — 5

(i) 3z — 7


https://dl.doubtnut.com/l/_k4aJMnUA4lAi
https://dl.doubtnut.com/l/_GwVtWQu8T93A

(iv) 322 — bz

(v) 5>

° Watch Video Solution

20. Write the polynominals in the index form.

Observe the coefficients.

(i)z* + 3z — 5, (44)3z* — bz, (i4i)5x?,

° Watch Video Solution



https://dl.doubtnut.com/l/_GwVtWQu8T93A
https://dl.doubtnut.com/l/_TvVUPw0SgWuN

21. Complete the following table:

xX*-4=0

yi=2y-1
X +2x=0

o Watch Video Solution

22. Decided which of the following are
quadratic equations ?

(i) 9y* + 5 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_rTWE3IqurTyL
https://dl.doubtnut.com/l/_fnzyk0Z04LW9

23. Decided which of the following are
quadratic equations ?

(i)m?> —5m?2+4=0

o Watch Video Solution

24. Decided which of the following are
quadratic equations ?

(Gii) (1 + 2)(I — 5) = 0

o Watch Video Solution



https://dl.doubtnut.com/l/_fnzyk0Z04LW9
https://dl.doubtnut.com/l/_kiKvWJhRuGB5
https://dl.doubtnut.com/l/_i2SWhKLW0may

25, For the quadratic equation
22> — z — 10 = 0 check whether
e = — 2
are roots or not?
° Watch Video Solution
26. For the quadratic equation

222 — £ — 10 = 0 check whether

=5
(i) x = 5

are roots or not?

| &


https://dl.doubtnut.com/l/_4uM43h8K4ERf
https://dl.doubtnut.com/l/_3d4YStJNKBlX

| ¥ Watch Video Solution |

27. If x =5 is a root of the equation

kz? — 14z — 5 = 0, then find the value of k.

o Watch Video Solution

28. Find the factors of the following
polynominals.

i)z — 4z — 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_3d4YStJNKBlX
https://dl.doubtnut.com/l/_ItrZe3IAZNnj
https://dl.doubtnut.com/l/_FHpukySUqvQS

29. Find the factors of the following
polynominals.

(ii) 2m* — 5m.

o Watch Video Solution

30. Find the factors of the following

polynominals.

(i) a® — 25.

o Watch Video Solution



https://dl.doubtnut.com/l/_QvGTwmATx3LK
https://dl.doubtnut.com/l/_NDOqrjSnfWe4
https://dl.doubtnut.com/l/_MHHpQXaYFYNZ

31. Solve 2? — 9z + 20 = 0 by factorisation

method.

o Watch Video Solution

32.Solve: 422 + 5z + 1 = 0.

o Watch Video Solution

33. Fill in the blanks : Phenomenon behind

formation of rainbow is

| & I


https://dl.doubtnut.com/l/_MHHpQXaYFYNZ
https://dl.doubtnut.com/l/_bq6j4Dc9kxfa
https://dl.doubtnut.com/l/_DXl4hWhuZ5cr

| ¥ Watch Video Solution |

34. Determine nature of roots of the quadratic

equation : z? + 2z — 9 = 0.

o Watch Video Solution

35. Write the quadratic equation if addition of

the roots is 10 and product is 9.

o Watch Video Solution



https://dl.doubtnut.com/l/_DXl4hWhuZ5cr
https://dl.doubtnut.com/l/_vEEq6KrnQh7r
https://dl.doubtnut.com/l/_uHr3r9VUOAXj
https://dl.doubtnut.com/l/_QKGLmJcoyMfF

36. What will be the quadratic equation if

a=20=05:.

o Watch Video Solution

37. The product of two consecutive natural

number is 240. Find the numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_QKGLmJcoyMfF
https://dl.doubtnut.com/l/_hK6qoDiN05lK

1. Solve the equation 2z + 13z + 15 = 0 by
factorisation method,

by completing the square mathod and by
using the formula.

Verify that you will get the same roots every

time.

o Watch Video Solution

2. Solve the equation 2z + 13z + 15 = 0 by

factorisation method,


https://dl.doubtnut.com/l/_zcNvwQaW3WA5
https://dl.doubtnut.com/l/_USDvp2XdzGUv

by completing the square mathod and by
using the formula.
Verify that you will get the same roots every

time.

° Watch Video Solution

Practice Set 2 1

1. Write any two quadratic equations.

° Watch Video Solution



https://dl.doubtnut.com/l/_USDvp2XdzGUv
https://dl.doubtnut.com/l/_OdXpRmmimGr8
https://dl.doubtnut.com/l/_BQBFDRO7UQsb

2. Decide which of the following are quadratic

equations :

2+ 52 —-2=0

° Watch Video Solution

3. Decide which of the following are quadratic

equations :

y® = 5y — 10

° Watch Video Solution



https://dl.doubtnut.com/l/_BQBFDRO7UQsb
https://dl.doubtnut.com/l/_1gIlWycFD7tZ
https://dl.doubtnut.com/l/_qAD4bhy8qwuF

4. Decide which of the following are quadratic

equations :

2_|_ 1 2
y i
Y

° Watch Video Solution

5. Decide which of the following are quadratic

equations :

1
x4+ —= —2
T

° Watch Video Solution



https://dl.doubtnut.com/l/_qAD4bhy8qwuF
https://dl.doubtnut.com/l/_YDfHDxSVZSKI

6. Decide which of the following are quadratic
equations :

(m+2)(m—5) =0

o Watch Video Solution

7. Decide which of the following are quadratic
equations :

m3 + 3m? — 2 = 3m?3

o Watch Video Solution



https://dl.doubtnut.com/l/_Z4IBAjKxtUnh
https://dl.doubtnut.com/l/_c5gTfTwjbSA1
https://dl.doubtnut.com/l/_Qmp1IrWiOKuq

8. Write the following equatratic equations in
the form az? + bz + ¢ = 0. Write the value of
a, b, ¢, for each equation.

2y = 10 — y?

o Watch Video Solution

9. Write the following equations in the form of
ax® +br +c =0,
then write the values of ab,c for each

equation.

(. —1)° =2z + 3


https://dl.doubtnut.com/l/_Qmp1IrWiOKuq
https://dl.doubtnut.com/l/_vbVP29PphPNP

° Watch Video Solution

10. Write the following equations in the form
ofaz? + bz +c =0,

then write the values of ab,c for each
equation.

z? 4+ 5r = — (3 —x)

° Watch Video Solution



https://dl.doubtnut.com/l/_vbVP29PphPNP
https://dl.doubtnut.com/l/_OSCdEhmkJt7R

11. Write the following equatratic equations in
the form az? + bz + ¢ = 0. Write the value of
a, b, ¢, for each equation.

3m? =2m? — 9

o Watch Video Solution

12. Write the following quatratic equations in
the form

az’® + bx + ¢ = 0. Write the value of a, b, c,


https://dl.doubtnut.com/l/_EbzgsjApBSOz
https://dl.doubtnut.com/l/_HuV0FWgdxZ6q

for each equation.

p(3+6p) = —5

° Watch Video Solution

13. Write the following quatratic equations in

the form

azr’ + bz + ¢ = 0. Write the value of a, b, c,

for each equation.

z2 —9 =13

° Watch Video Solution



https://dl.doubtnut.com/l/_HuV0FWgdxZ6q
https://dl.doubtnut.com/l/_6WF6DoLXZTPE
https://dl.doubtnut.com/l/_5HT06caLnUN8

14. Determine whether the values given
against each of the quadratic equations are
the roots of the quadratic equation or not :

z? 44 —-5=0,z=1, —1

° Watch Video Solution

15. Determine whether the value given against
each of the quadratic equation are the roots

of the equation.

5
(i) 2m? — bm = 0, m = 2, 5

l ° Watch Video Solution


https://dl.doubtnut.com/l/_5HT06caLnUN8
https://dl.doubtnut.com/l/_qws91sbK077l

16. Find k if x=3 is a root of equation

kx? — 10z + 3 = 0.

o Watch Video Solution

17. One of the roots of equation

5m +2m +k=01is — % find the value of

'k'.

o Watch Video Solution



https://dl.doubtnut.com/l/_qws91sbK077l
https://dl.doubtnut.com/l/_ejozGD6nxdqF
https://dl.doubtnut.com/l/_BKv9srROYdDT
https://dl.doubtnut.com/l/_4Xg8DshgDTFS

18. Write any two quadratic equations.

o Watch Video Solution

19. Decided which of the following are
quadratic equations.

(Vz? + 5z — 2 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_4Xg8DshgDTFS
https://dl.doubtnut.com/l/_nv0rDhqrVh6N

20. Decided which of the following are
quadratic equations.

(i) y* = 5y — 10

o Watch Video Solution

21. Decided which of the following are

quadratic equations.

1
mwﬁ+§:z

o Watch Video Solution



https://dl.doubtnut.com/l/_qByFUq1j2F8P
https://dl.doubtnut.com/l/_uwpazB5zlVUf
https://dl.doubtnut.com/l/_oNP9xslQuJXt

22. Decided which of the following are

quadratic equations.

1
(iVvie+ — = — 2.
T

o Watch Video Solution

23. Decided which of the following are
quadratic equations ?

Gii) 14+ 2)(I —5) =0

o Watch Video Solution



https://dl.doubtnut.com/l/_oNP9xslQuJXt
https://dl.doubtnut.com/l/_t4m9p91FGwCh
https://dl.doubtnut.com/l/_6afEeGl0dnJ3

24. Decided which of the following are
quadratic equations.

(vi) m> + 3m? — 2 = 3m?5.

o Watch Video Solution

25. Write the following equations in the form
az’® + bx + ¢ = 0, then write the value of a,

b,c for each equation.

(i)2y = 10 — °.

° Watch Video Solution



https://dl.doubtnut.com/l/_6afEeGl0dnJ3
https://dl.doubtnut.com/l/_iKEkoiHUF2JE
https://dl.doubtnut.com/l/_UBxLck9pKSHr

26. Write the following equations in the form
ofax? + bz + ¢ = 0,
then write the values of ab,c for each

equation.

(z —1)° =2z + 3

o Watch Video Solution

27. Write the following equations in the form
ofax? + bz + c = 0,

then write the values of ab,c for each


https://dl.doubtnut.com/l/_UBxLck9pKSHr
https://dl.doubtnut.com/l/_QmzN4DAIelkh

equation.

z? 4+ 5r = — (3 —x)

° Watch Video Solution

28. Write the following equations in the form
ax® +br +c = 0, then write the value of a,
b,c for each equation.

(iv)3m? = 2m? — 9

o Watch Video Solution



https://dl.doubtnut.com/l/_QmzN4DAIelkh
https://dl.doubtnut.com/l/_eNP6g6PB8vpY

29. Write the following quatratic equations in
the form
az’® + bx + ¢ = 0. Write the value of a, b, c,

for each equation.

p(3+6p) = —5

o Watch Video Solution

30. Write the following quatratic equations in
the form

azr’ + bz + ¢ = 0. Write the value of a, b, c,


https://dl.doubtnut.com/l/_WrdTZ47SPIwz
https://dl.doubtnut.com/l/_jDFQe6pKNHJl

for each equation.

2 —9 =13

° Watch Video Solution

31. Determine wheter the value given against
each of the quadratic equation are the roots
of the equation.

Mzl+4 -5=0,z=1, —1

o Watch Video Solution



https://dl.doubtnut.com/l/_jDFQe6pKNHJl
https://dl.doubtnut.com/l/_S68XJKcfBiMI

32. Determine whether the value given against
each of the quadratic equation are the roots
of the equation.

5
(i) 2m? — 5m = 0, m = 2, 5

° Watch Video Solution

33. Find k if x=3 is a root of equation

kz? — 10z +3 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_pE3JxK1TtTZ6
https://dl.doubtnut.com/l/_6wwVPPr0ToJq
https://dl.doubtnut.com/l/_l8CCnXOE0DZ5

34. One of the roots of equation
5m? +2m +k=0is — % find the value of

'k'.

o Watch Video Solution

Practice Set 2 2

1. Solve the following quadratic equations by

factorization.

22 — 152 + 54 = 0

l ° Watch Video Solution


https://dl.doubtnut.com/l/_l8CCnXOE0DZ5
https://dl.doubtnut.com/l/_oDbij0EObM2g

2. Solve the following quadratic equations by
factorisation method:

2+ 2 —-20=0

° Watch Video Solution

3. Solve the following quadratic equations by
factorisation method:

2% + 27y + 13 = 0

° Watch Video Solution



https://dl.doubtnut.com/l/_oDbij0EObM2g
https://dl.doubtnut.com/l/_MM8MYEdz6vAq
https://dl.doubtnut.com/l/_l2x3kBpxqqhE

4. Solve the following quadratic equations by

factorization.

5m’ = 22m + 15

° Watch Video Solution

5. Solve the following quadratic equations by
factorization.

2 1_

° Watch Video Solution



https://dl.doubtnut.com/l/_l2x3kBpxqqhE
https://dl.doubtnut.com/l/_fVIQLin6nqex
https://dl.doubtnut.com/l/_FvUeCA0TnXmp

6. Solve the following quadratic equations by

factorisation method:

2
6r — — =1
x

° Watch Video Solution

7. Solve the quadratic equation

factorisation /222 + 7z + 5v/2 = 0

o Watch Video Solution



https://dl.doubtnut.com/l/_FvUeCA0TnXmp
https://dl.doubtnut.com/l/_ckaEwPPgg0SA
https://dl.doubtnut.com/l/_2mfiMCn77YHS
https://dl.doubtnut.com/l/_882wfs8tG2v1

8. Solve the following quadratic equations by
factorization.

3z — 2,6z +2=0

o Watch Video Solution

9. Solve the following quadratic equations by
factorization.

2m(m — 24) = 50

o Watch Video Solution



https://dl.doubtnut.com/l/_882wfs8tG2v1
https://dl.doubtnut.com/l/_b8xOdNPP2TD2

10. Solve the following quadratic equations by
factorization.

Tm? = 21m

o Watch Video Solution

11. Solve the following quadratic equation by
factorisation.

(xiy m? — 11 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_jK6frMh6of67
https://dl.doubtnut.com/l/_NGf9x6ZInWv7
https://dl.doubtnut.com/l/_zN9sl24kx64r

12. Solve the following quadratic equation by
factorisation.

Mx? — 152 +54=0.

o Watch Video Solution

13. Solve the following quadratic equation by
factorisation.

(iz? + 2 — 20 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_zN9sl24kx64r
https://dl.doubtnut.com/l/_7veaHphZgNYk
https://dl.doubtnut.com/l/_b3ccKfaoVAPy

14. Solve the following quadratic equation by

factorization: 2y° 4+ 27y + 13 = 0

° Watch Video Solution

15. Solve the following quadratic equation by
factorisation.

(iv) 5m? = 22m + 15.

o Watch Video Solution



https://dl.doubtnut.com/l/_b3ccKfaoVAPy
https://dl.doubtnut.com/l/_LbBRpb2YVgsl

16. Solve the following quadratic equation by

factorisation.

1
(v)2a:2—2zc—|—§=O.

o Watch Video Solution

17. Solve the following quadratic equation by

factorisation.

_ 2
(vi)bx — — = 1.
x

o Watch Video Solution



https://dl.doubtnut.com/l/_CXm35lJxhpCv
https://dl.doubtnut.com/l/_TiQcUv4yIl0k
https://dl.doubtnut.com/l/_pqXbC1213ALG

18. Complete the following activity to sovle the

quadratic equation v/ 2z 4+ 7z + 5v/2 = 0 by

factorisation method :

o Watch Video Solution

19. Solve the following quadratic equation by
factorisation.

(viii) 32% — 24/6x + 2 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_pqXbC1213ALG
https://dl.doubtnut.com/l/_K2TuDRGoONLo
https://dl.doubtnut.com/l/_YtF3VZDi7u2J

20. Solve the following quadratic equations by
factorization.

2m(m — 24) = 50

o Watch Video Solution

21. Solve the following quadratic equation by
factorisation.

(xi) Tm? = 21m.

o Watch Video Solution



https://dl.doubtnut.com/l/_YtF3VZDi7u2J
https://dl.doubtnut.com/l/_Bj3h254ku8PH

22. Solve the following quadratic equation by
factorisation.

(xiy m? — 11 = 0.

o Watch Video Solution

Practice Set 2 3

1. Solve the following quatratic equations by

completing square


https://dl.doubtnut.com/l/_vKqY2j6DAP1s
https://dl.doubtnut.com/l/_5lMWy8EeX1QT

method :

2+ —-20=0

° Watch Video Solution

2. Solve the following quatratic equations by
completing square
method :

24+ 22 —5=0

o Watch Video Solution



https://dl.doubtnut.com/l/_5lMWy8EeX1QT
https://dl.doubtnut.com/l/_nnB8CqpL7qBL

3. Solve the following quatratic equations by
completing square

method: m? — 5m = — 3

o Watch Video Solution

4. Solve the following quadratic equations by
completing the square method.

9y? — 12y +2=0

o Watch Video Solution



https://dl.doubtnut.com/l/_rMLwAUv6WXWK
https://dl.doubtnut.com/l/_Lac7ZBE1jqna
https://dl.doubtnut.com/l/_Ow37BQdlj0Pb

5. Solve the following quatratic equations by
completing square

method : 2y? + 9y + 10 = 0

o Watch Video Solution

6. Solve the following quatratic equations by
completing square
method :

52 =4z + 7

° Watch Video Solution



https://dl.doubtnut.com/l/_Ow37BQdlj0Pb
https://dl.doubtnut.com/l/_s2L5KyLbsmwM

7. Solve the following quatratic equations by
completing square
method :

2+ —-20=0

° Watch Video Solution

8. Solve the following quatratic equations by
completing square
method :

22+ 22 —5=0

| & I


https://dl.doubtnut.com/l/_KZgOcc4M7Stw
https://dl.doubtnut.com/l/_Q2nddzIeYNcV

| ¥ Watch Video Solution |

9. Solve the following quatratic equations by
completing square

method: m? — 5m = — 3

o Watch Video Solution

10. Solve the following quadratic equation by
completing the square method.

4)9y* — 12y +2=0

o Watch Video Solution



https://dl.doubtnut.com/l/_Q2nddzIeYNcV
https://dl.doubtnut.com/l/_3reIpq8MCqTq
https://dl.doubtnut.com/l/_MtBNTM0T8Rhm

11. Solve the following quatratic equations by
completing square

method : 2y? + 9y + 10 = 0

o Watch Video Solution

12. Solve the following quatratic equations by
completing square
method :

52 =4z + 7

| = 1


https://dl.doubtnut.com/l/_MtBNTM0T8Rhm
https://dl.doubtnut.com/l/_wMe1HeP99lzr
https://dl.doubtnut.com/l/_Kcb64zFdoivn

I &9 Watch Video Solution I

Practice Set 2 4

1. Find the values of ab,c for the following
quadratic equations by comparing with
standard form :

2 — 7 +5=0

° Watch Video Solution



https://dl.doubtnut.com/l/_Kcb64zFdoivn
https://dl.doubtnut.com/l/_xpfY6ygmZPVc

2. Find the values of ab,c for the following
quadratic equations by comparing with
standard form :

2m? =5m — 5

o Watch Video Solution

3. Compare the given quadratic equation to
the general form and

write value of a,b,c

(i) y? = T.

| & I


https://dl.doubtnut.com/l/_wKLEQ7SwuqeQ
https://dl.doubtnut.com/l/_u8B8x9DjWKMJ

| ¥ Watch Video Solution |

4. Solve using formula.

2 +6z+5=0

° Watch Video Solution

5. Solve the following quadratic equations by

using formula method :

22 —32—-2=0

° Watch Video Solution



https://dl.doubtnut.com/l/_u8B8x9DjWKMJ
https://dl.doubtnut.com/l/_yN5Iw7OuC5n5
https://dl.doubtnut.com/l/_SHYY7BPtHFAL

6. Solve the following quadratic equations by
using formula method :

3m2+2m—T7=0

o Watch Video Solution

7. Solve the following quadratic equations by
using formula method :

5m? —4m — 2 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_ZqScEPQmMMN4
https://dl.doubtnut.com/l/_j9z8uUO58XJi
https://dl.doubtnut.com/l/_6Ah8Fnu80Wzy

8. Solve the following quadratic equations by
using formula method :

SR

o Watch Video Solution

9. Find the roots of the quadratic equations by
using the quadratic formula in each of the
following

522 + 13z +8 = 0

° Watch Video Solution



https://dl.doubtnut.com/l/_6Ah8Fnu80Wzy
https://dl.doubtnut.com/l/_XTxg8fTNzpsT

10. With the help of the flow chart given below
solve the equation z* + 2,/3z + 3 = 0 using

formula.

Compare equations
*+2/3x+3=0and
ax? +bx + ¢ =0 find the
values of g, b, ¢

Substitute values o Tite formula to sOlve
4, b, c and find roots quadratic equation

o Watch Video Solution

11. Compare the given quadratic equation to
the general form and write values of a, b, c:

2 -7 +5=0


https://dl.doubtnut.com/l/_bduDXgaeXQez
https://dl.doubtnut.com/l/_RR11qpAi5Ukd

° Watch Video Solution

12. Compare the given quadratic equation to
the general form and write values of a, b, c

2m? =5m — 5

° Watch Video Solution

13. Compare the given quadratic equation to

the general form and


https://dl.doubtnut.com/l/_RR11qpAi5Ukd
https://dl.doubtnut.com/l/_rPnhz8d7SAtA
https://dl.doubtnut.com/l/_0b0pVsCDk89E

write value of a,b,c

(i) y* = 7.

° Watch Video Solution

14. Solve using formula.

Mz +6z+5=0

o Watch Video Solution

15. Solve using formula.

iz -3z —-—2=0


https://dl.doubtnut.com/l/_0b0pVsCDk89E
https://dl.doubtnut.com/l/_voab7JhQCyqA
https://dl.doubtnut.com/l/_ty1R7skrOLJS

° Watch Video Solution

16. Solve using formula.

(i)3m2 +2m — 7 =0

o Watch Video Solution

17. Solve using formula.

(ivV)5m? —4m — 2= 0

° Watch Video Solution



https://dl.doubtnut.com/l/_ty1R7skrOLJS
https://dl.doubtnut.com/l/_sj4t3Ecab3Q1
https://dl.doubtnut.com/l/_m6urSZrEVaTq
https://dl.doubtnut.com/l/_bW1bxWtmHROb

18. Solve using formula.

1
(V)y? + 3y =2

o Watch Video Solution

19. Solve using formula.

(vi) 522 + 13z + 8 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_bW1bxWtmHROb
https://dl.doubtnut.com/l/_WkjC9lS9uLte

20. With the help of the flow chart below solve
the equation z® + 2,/3z + 3 = 0 using the

formula.

o Watch Video Solution

Practice Set 2 5


https://dl.doubtnut.com/l/_5k5e9hFpf6mP

1. Fill in the gaps and complete.

Quadratic equation
ax” +bx+c=0

!

b” —4ac=. Nature qf roots
. b - 4ac =5 T '
(i) -
o Watch Video Solution
2. Fill in the gaps and complete.
Quadratic

Sumof |/  equation \| Productof

roots = —7

(i)

\ ...... l ....... / roots =5

o Watch Video Solution



https://dl.doubtnut.com/l/_T9LpPgWfj8De
https://dl.doubtnut.com/l/_aeXRF3gyHMOf

3. Fill in the gaps and complete.

2 —4x-3=0"

4 v

(iii)

° Watch Video Solution

4. Find the value of discriminant.

22+ T —1=0

o Watch Video Solution



https://dl.doubtnut.com/l/_aeXRF3gyHMOf
https://dl.doubtnut.com/l/_jcBYVnoelsJH
https://dl.doubtnut.com/l/_7EV2UFoXid0D
https://dl.doubtnut.com/l/_UyZ77C9Md53C

5. Find the value of discriminant.

2y — 5y +10 =0

° Watch Video Solution

6. Find the value of discriminant.

V2% + 4z + 22 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_UyZ77C9Md53C
https://dl.doubtnut.com/l/_5I3FPXnSa8Nn

7. Determine the nature of roots of the
following quadratic equations.

22 —4r+4=0

o Watch Video Solution

8. Determine the nature of roots of the
following quadratic equations.

20 — Ty +2=10

o Watch Video Solution



https://dl.doubtnut.com/l/_UoNhzSCeByx6
https://dl.doubtnut.com/l/_S2jduZOXmfOj
https://dl.doubtnut.com/l/_OCPwqusHKQve

9. Determine the nature of roots of the
following quadratic equations.

m?>+2m+9=0

o Watch Video Solution

10. Form the quadratic equation from the
roots given below.

Oand 4

o Watch Video Solution



https://dl.doubtnut.com/l/_OCPwqusHKQve
https://dl.doubtnut.com/l/_DCBkTMI4XDsf
https://dl.doubtnut.com/l/_o1RQea6C5RtK

1. Form the quadratic equation from the
roots given below.

3 and -10

o Watch Video Solution

12. Form the quadratic equation from the

roots given below.

1 -l
9 N4

o Watch Video Solution



https://dl.doubtnut.com/l/_o1RQea6C5RtK
https://dl.doubtnut.com/l/_IIg5So68n3gc

13. Form the quadratic equation from the

roots given below.

2—/b5and2+ /5

o Watch Video Solution

14. Sum of the roots of a quadratic equation is
double their product.

Find k if equation is z° — 4kz + k + 3 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_Z3MK9PS6ZElo
https://dl.doubtnut.com/l/_zbu7EXz7KzwL
https://dl.doubtnut.com/l/_4GrZZaPSNekm

15. a, 8 are roots of y?> — 2y — 7 = 0 find,

(i) o + B2 (ii) o® + B°

o Watch Video Solution

16. o, 8 are roots of y* — 2y — 7 = 0 find,

(i) o 4 B2 (ii) o + B3

o Watch Video Solution



https://dl.doubtnut.com/l/_4GrZZaPSNekm
https://dl.doubtnut.com/l/_ELpOJAi2EZbu

17. The roots of the each of the following
quadratic equations are real
and equal, find k.

3P +ky+12=0

° Watch Video Solution

18. For what value of k, are the roots of the

quadratic equation

kx(z —2) + 6 = O equal ?

° Watch Video Solution



https://dl.doubtnut.com/l/_UQy1QHSRZvYr
https://dl.doubtnut.com/l/_RyknIt88f0nQ

19. Fill in the gaps and complete.

Quadratic equation
axz +bx+c=0

!

b’ —4dac=15

t

b’ —4ac=-5

Nature éf roots

/

v

(i)

° Watch Video Solution

20. Fill in the gaps and complete.

Quadratic
Sumof |/  equation
roots =7 [\ ...... I

Product of
roots =5



https://dl.doubtnut.com/l/_RyknIt88f0nQ
https://dl.doubtnut.com/l/_1X4dVxw1Q2hf
https://dl.doubtnut.com/l/_q3GAqeqnCFYS

& Watch Video Solution

21. Fill in the gaps and complete.

A4 v

2 —4x-3=0

(iii)

o Watch Video Solution

22. Find the value of discriminant.

Nz +7c—1=0

O Watch Video Solution



https://dl.doubtnut.com/l/_q3GAqeqnCFYS
https://dl.doubtnut.com/l/_IsmLDgBbdZ1r
https://dl.doubtnut.com/l/_XgANF8eHQPOB

23. Find the value of discriminant.

(i) 2y — by + 10 = 0

o Watch Video Solution

24. Find the value of discriminant.

(iii) v22% + 42 +2,/2 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_meim3YgOe5SI
https://dl.doubtnut.com/l/_p60FyPdHht17

25. Determine the nature of roots of the

following quadratic equations.

Mx? -4z +4=0

o Watch Video Solution

26. Determine the nature of roots of the
following quadratic equations.

(i) 2y —Ty+2=0

o Watch Video Solution



https://dl.doubtnut.com/l/_hTghYgsyWNNL
https://dl.doubtnut.com/l/_O5Iud4fzcwPP
https://dl.doubtnut.com/l/_dfCQyOi4bJko

27. Determine the nature of roots of the
following quadratic equations.

(iiym? + 2m + 9 = 0.

o Watch Video Solution

28. Form the quadratic equation from the
roots given below.

(i) 0 and 4

o Watch Video Solution



https://dl.doubtnut.com/l/_dfCQyOi4bJko
https://dl.doubtnut.com/l/_sbt5FLX69cG4
https://dl.doubtnut.com/l/_rJJaDpeSlhtS

29. Form the quadratic equation from the

roots given below.

(i)3 and — 10

o Watch Video Solution

30. Form the quadratic equation from the

roots given below.

o101
(i 5, 5

o Watch Video Solution



https://dl.doubtnut.com/l/_rJJaDpeSlhtS
https://dl.doubtnut.com/l/_5So5zla3aXm7

31. Form the quadratic equation from the

roots given below.

(iv)2 — /5,2 + /b

o Watch Video Solution

32.Sum of the roots of a quadratic equation is
double their product.

Find k if equation is z° — 4kz + k + 3 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_NgFi4gbphfb0
https://dl.doubtnut.com/l/_OdfKSQMw3oIT
https://dl.doubtnut.com/l/_pku9H58cP9xN

33. «, B are roots of y*> — 2y — 7 = 0 find,

(i) a® + B2 .

° Watch Video Solution

34. o, 8 are roots of y* — 2y — 7 = 0 find,

(i) a® + B2.

o Watch Video Solution



https://dl.doubtnut.com/l/_pku9H58cP9xN
https://dl.doubtnut.com/l/_zrCjzLEfp5Y7

35. The roots of the each of the following
quadratic equations are real
and equal, find k.

3P +ky+12=0

° Watch Video Solution

36. The roots of the following quadratic
equation are real and equal. Find k.

kx(x —2)+6=0

° Watch Video Solution



https://dl.doubtnut.com/l/_XD1rpUxarsxD
https://dl.doubtnut.com/l/_mw2klICvFGuK

Practice Set 2 6

1. Product of Pragati's age 2 years ago and 3
years hence is 84.

Find her present age.

o Watch Video Solution

2. The sum of squares of two consecutive even

natural number is 244. Find the numbers.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_mw2klICvFGuK
https://dl.doubtnut.com/l/_rBbvRgKalD3G
https://dl.doubtnut.com/l/_n1ATJ0vEPQHg

3. In the orange garden of Mr. Madhusudan
there are 150 orange

trees. The number of tree in each row is 5
more than that in each column. Find the

number of trees in each row and each column


https://dl.doubtnut.com/l/_n1ATJ0vEPQHg
https://dl.doubtnut.com/l/_vXlQXl4MokFI

with the help of following flow chart.

1. No.oftreesin| .|ii. No. of trees
a column is x. In a row =
iv. Frame quadratic| |iii. Total no. of
equation. trees=....
v. Find x. o V1. No. of trees
in a column.
vii. No. of trees
in a row.

o Watch Video Solution

4. Vivek is older than Kishor by 5 years. The
sum of the reciprocals of

1
their ages is r3 Find their present age.


https://dl.doubtnut.com/l/_vXlQXl4MokFI
https://dl.doubtnut.com/l/_TXrKDPjOExz6

° Watch Video Solution

5. Suyash scored 10 marks more in second test
than that in first.

5 times the score of the second test is same as
square of the score

in first test. Find his score in first test.

° Watch Video Solution



https://dl.doubtnut.com/l/_TXrKDPjOExz6
https://dl.doubtnut.com/l/_7hT0hsWYRGrA

6. Mr. Kasam runs a small business of making
earthen pots.

He makes certain number of pots on daily
basis. Production cost of each pot is Rs. 40
more than 10 times total number of pots,

he makes in one day. If production cost of all
pots per day is Rs. 600, find production cost of
one pot and number of pots he makes

per day.

o Watch Video Solution



https://dl.doubtnut.com/l/_0jhLt63wiTkp
https://dl.doubtnut.com/l/_D8oI1Re2OgcM

7. Pintu takes 6 days more than those of Nishu
to complete certain

work. If they work togeter they finish it in 4
days. How many days would it take to

complete the work if they work alone.

o Watch Video Solution

8. If 460 is divided by a natural number,
quotient is 6 more than 5
times the divisor and remainder is 1 then find

quotient and divisor.

| = |


https://dl.doubtnut.com/l/_D8oI1Re2OgcM
https://dl.doubtnut.com/l/_FaPvRqlEcGyk

I &9 Watch Video Solution I

9. In the given fig quadrilateral ABCD is a
trapezium AB | | CD and

its area is 33cm?. From the information given
in the figure find the lengths of all sides of the

quadrilateral ABCD.

(x—4) (x—2)



https://dl.doubtnut.com/l/_FaPvRqlEcGyk
https://dl.doubtnut.com/l/_P8CZTPaiPQF8

I O Watch Video Solution I

10. Product of Pragati's age 2 years ago and 3

years hence is 84. Find her present age.

° Watch Video Solution

11. The sum of squares of two consecutive even

natural numbers is 244, find the numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_P8CZTPaiPQF8
https://dl.doubtnut.com/l/_lx5GWo92qBlu
https://dl.doubtnut.com/l/_4Fx3eMwU8j3Y
https://dl.doubtnut.com/l/_x3xDfduUCZiE

12. In the orange garden of Mr. Madhusudan
there are 150 orange

trees. The number of tree in each row is 5
more than that in each column. Find the
number of trees in each row and each column

with the help of following flow chart.

1. No.oftreesin| 1. No. of trees
a column is x. in arow =
iv. Frame quadratic| |iii. Total no. of
equation. trees=....
v. Find x. » vi. No. of trees
in a column.
vii. No. of trees
in a row.

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_x3xDfduUCZiE

13. Vivek is older than Kishor by 5 years. The
sum of the reciprocals of their ages is 5 Find

their present ages.

o Watch Video Solution

14. Suyash scored 10 marks more in second
test than that in first.

5 times the score of the second test is same as


https://dl.doubtnut.com/l/_x3xDfduUCZiE
https://dl.doubtnut.com/l/_HL7f7nJn49Gg
https://dl.doubtnut.com/l/_MhXsZZSLx7P4

square of the score

in first test. Find his score in first test.

° Watch Video Solution

15. Mr. Kasam runs a small business of making
earthen pots.

He makes certain number of pots on daily
basis. Production cost of each pot is Rs. 40
more than 10 times total number of pots,

he makes in one day. If production cost of all

pots per day is Rs. 600, find production cost of


https://dl.doubtnut.com/l/_MhXsZZSLx7P4
https://dl.doubtnut.com/l/_fK11MYz0XrR0

one pot and number of pots he makes

per day.

° Watch Video Solution

16. Pratik takes 8 hours to travel 36 km
downstream and return to same spot. The
speed of boat in still water is 12km/hr. Find the

speed of the water current.

o Watch Video Solution



https://dl.doubtnut.com/l/_fK11MYz0XrR0
https://dl.doubtnut.com/l/_n6vweownse0K

17. Pintu takes 6 days more than those of
Nishu to complete certain

work. If they work togeter they finish it in 4
days. How many days would it take to

complete the work if they work alone.

o Watch Video Solution

18. If 460 is divided by a natural number,

quotient is 6 more than 5


https://dl.doubtnut.com/l/_t3wzPS8OizIy
https://dl.doubtnut.com/l/_zU8zQxH4PrtQ

times the divisor and remainder is 1 then find

quotient and divisor.

o Watch Video Solution

19. In the given fig quadrilateral ABCD is a
trapezium AB | | CD and
its area is 33cm?. From the information given

in the figure find the lengths of all sides of the


https://dl.doubtnut.com/l/_zU8zQxH4PrtQ
https://dl.doubtnut.com/l/_NlgBBLb5w50a

quadrilateral ABCD.

A X B
(x—4) (x—2)
. C
Dk M (2x + 1)— —

o Watch Video Solution

Probelm Set 2

1. Which one is the quadratic equation?



https://dl.doubtnut.com/l/_NlgBBLb5w50a
https://dl.doubtnut.com/l/_K4uySuI4dKtk

A.(i)E — 3 =12z
X

B. (i) z(z + 5) = 2

C.(iiln—1=2n

D. (iv) %(a} +2) ==z
T

Answer: B

o Watch Video Solution

2. Out of the following equations which one is
not a quadratic

equation ?


https://dl.doubtnut.com/l/_K4uySuI4dKtk
https://dl.doubtnut.com/l/_eUTXfiXJCEZP

A (i) 22 + 4z = 11 + 2
B. (i) % = 4z
C. (iii) 522 = 90

D.(iV) 2z — 22 =22+ 5

Answer: A

° Watch Video Solution

3. The roots of 2 + kx + k = 0 are real and

equal, find k.


https://dl.doubtnut.com/l/_eUTXfiXJCEZP
https://dl.doubtnut.com/l/_AEYgjRMP3DLm

A.(i) O

B. (ii) 4

C.(iii)Oor 4

D. (iv) 2

Answer: C

° Watch Video Solution

4. Which of the following is the value of the

discriminant for v/2z% — 5z + /2 = 07


https://dl.doubtnut.com/l/_AEYgjRMP3DLm
https://dl.doubtnut.com/l/_UvYC2fCAGu20

A. (i) =5
B. (i) 17
C. (iii) /17

D.(iv) 2v/2 — 5

Answer: B

° Watch Video Solution

5. Which of the following quadratic equations

has roots 3,5 ?


https://dl.doubtnut.com/l/_UvYC2fCAGu20
https://dl.doubtnut.com/l/_dFcPVEFYR1Pk

Az —152 +8 =0
B.(iz? — 8z +15=0
C.(iiNz> +3z+5=0

D.(ivyz? + 82 —15 =0

Answer: B

o Watch Video Solution

6. Choose the correct answer for the following
questions.

(vi) Out of the following equations, find the


https://dl.doubtnut.com/l/_dFcPVEFYR1Pk
https://dl.doubtnut.com/l/_wDyNB1grRWip

equation having the sum

of its roots -5.

A(i)3z2 — 152 +3 =0

B.(iz2 — 5z +3=0

C.(iiz> +3z—-5=0

D.(iv)3z2 + 152 +3 =0

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wDyNB1grRWip

7. /5m? — /5m + /5 =0 which of
following statement is true
for this given equation ?

A. (i) Real and unequal roots

B. (i) Real and equal roots

C. (iii) Roots are not real

D. (iv) Three roots

Answer: C

the

o Watch Video Solution



https://dl.doubtnut.com/l/_TF3NmGgdayfQ

8 One of the roots of equation

22 +mxz —5=0is 2 find m.

A (i) —2

B (i 1
.(||)—§

o1
C. (i) 2

D. (iv) 2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_UzHRbYwD4bT4
https://dl.doubtnut.com/l/_K62MWPj2vyoc

9. Which of the following are quadratic
equations?

2+ 22 4+ 11 =0

o Watch Video Solution

10. Which of the following are quadratic
equations?

x2—2:1:—|—5:zc2

o Watch Video Solution



https://dl.doubtnut.com/l/_K62MWPj2vyoc
https://dl.doubtnut.com/l/_7mGjaZ4A7SD1

1. Which of the following are quadratic
equations?

(z 4 2)* = 22°

o Watch Video Solution

12. Find the value of discriminant for each of
the following equations.

20  —y+2=0

o Watch Video Solution



https://dl.doubtnut.com/l/_nqskcYIocfHw
https://dl.doubtnut.com/l/_fF2mFBWLsbC7
https://dl.doubtnut.com/l/_2Rci0tkQmaI1

13. Find the value of discriminant for each of

the following equations.

2

m® —m =20

o Watch Video Solution

14. Find the value of discriminant for each of

the following equations.

Vhrt —x — /5 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_2Rci0tkQmaI1
https://dl.doubtnut.com/l/_urAv4Xq7eGqN
https://dl.doubtnut.com/l/_SfFTZ6oflw0o

15. If one root of the quadratic equation
222 + kx — 2 = 0is -2, find

the value of k.

o Watch Video Solution

16. Two roots of quadratic equations are given,
frame the equation.

10 and — 10

o Watch Video Solution



https://dl.doubtnut.com/l/_SfFTZ6oflw0o
https://dl.doubtnut.com/l/_WLfWYp88mNKN

17. Two roots of quadratic equations are given,

frame the equation.

1-3,5 and 1+ 3,5

o Watch Video Solution

18. Two roots of quadratic equations are given,
frame the equation.

Oand 7?7

o Watch Video Solution



https://dl.doubtnut.com/l/_WQ2CMY6VRepK
https://dl.doubtnut.com/l/_8Cvxn7WHezmq
https://dl.doubtnut.com/l/_DY9uLKYyedpp

19. Determine the nature of roots for each of

the quadratic equations.

322 -5z +7=0

o Watch Video Solution

20. Determine the nature of roots for each of

the quadratic equations.

V3z2 4+ 2z —2/3 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_DY9uLKYyedpp
https://dl.doubtnut.com/l/_134Jpgu2o9V2
https://dl.doubtnut.com/l/_ZvlcQ9pE5P69

21. Determine the nature of roots for each of
the quadratic equations.

m?>—2m+1=0

o Watch Video Solution

22. Solve the following quadratic equations :

1 1

x5 x2

o Watch Video Solution



https://dl.doubtnut.com/l/_ZvlcQ9pE5P69
https://dl.doubtnut.com/l/_CiGfL1strAys

23. Solve the following quadratic equations:

o Watch Video Solution

24. Solve the following quadratic equations:

(2z +3)* = 25

o Watch Video Solution



https://dl.doubtnut.com/l/_sdb2qeufqZjw
https://dl.doubtnut.com/l/_wsTttuzAoEn1

25. Solve the following quadratic equations :

m?+5m-+5=0

o Watch Video Solution

26. Solve the following quadratic equations :

5m2 +2m +1 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_Z96BNf4guU24
https://dl.doubtnut.com/l/_BoHacPoU56u5

27. Find m, if the quadratic equation
(m —12)z* + 2(m — 12)z +2 = 0 has real

and eqaul roots.

o Watch Video Solution

28. The sum of two roots of a quadratic
equation is 5 and the sum of

their cubes is 35. Find the equation.

o Watch Video Solution



https://dl.doubtnut.com/l/_AC1vZdAi8HwA
https://dl.doubtnut.com/l/_IaApdTMlTfNQ
https://dl.doubtnut.com/l/_R1RhF29WeeOW

29. Find quadratic equation such that its roots
are square of sum of the roots and square of
difference  of the roots of equation

20> +2(p+ @)z +p* +¢° =0

o Watch Video Solution

30. Mukund possesses RS 50 more than what
Sagar possesses. The product of the amount
they have is numerically RS 15000. Find the

amount each has.

o Watch Video Solution



https://dl.doubtnut.com/l/_R1RhF29WeeOW
https://dl.doubtnut.com/l/_wMOmMYKJB9Ma

31. The difference between squares of two
numbers is 120. The square
of smaller number is twice the greater

number. Find the numbers.

o Watch Video Solution

32. Ranjana wants to distribute 540 oranges

among some students. If


https://dl.doubtnut.com/l/_wMOmMYKJB9Ma
https://dl.doubtnut.com/l/_ETbVrStKscGN
https://dl.doubtnut.com/l/_93cKn8ykvFlx

30 students were more each would get 3

oranges less. Find the number of students.

O Watch Video Solution

33. Mr. Dinesh owns an agricultural farm at
village Talvel. The length of the farm is 10
meter more than twice the breadth. In order
to harvest rain water, he dug a square shape

- . 1
pond inside the farm. The side of pond is 3

times of the breadth of the farm. The area of

the farm is 20 times the area of the pond. Find


https://dl.doubtnut.com/l/_93cKn8ykvFlx
https://dl.doubtnut.com/l/_OAEpw9WaYdln

the length and breadth of the farm and of the

pond.

° Watch Video Solution

34. A tank fills completely in 2 hours if both
the taps are open. If only one of the taps is
open at the given time, the smaller tap takes 3
hours more than the larger one to fill the tank.
How much times does each tap take to fill the

tank completely?

° Watch Video Solution



https://dl.doubtnut.com/l/_OAEpw9WaYdln
https://dl.doubtnut.com/l/_Zcjkw9nT65j4

35. Which one is the quadratic equation?

5
A — — 3 =z’
L
B.z(xz + 5) = 2
Cn—1=2n

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Zcjkw9nT65j4
https://dl.doubtnut.com/l/_ohDJSyjGyUya

36. Out of the following equations which one
is not a quadratic
equation ?

Az +4e =11+ z°

B.z% = 4z

C.5z° = 90

D.2z —xz2 =2°+5

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_RGGJhoVX5dvM

37.The roots of 2 + kx + k = 0 are real and

equal. Find K. a)0 b)4 c)O or 4 d)2

A.O

B.4

C.Oor4

D. 2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_YHT71JtPWzQF
https://dl.doubtnut.com/l/_MbukAz3UhJYl

38. Choose the correct answer for the

following questions.
(iv) For v/2z% — bz + /2 = 0, find the value
of the discriminant.

A. -5

B.17

C. /17

D.2/2 —5

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_MbukAz3UhJYl

39. Choose the correct answer for the
following questions.
(v) Which of the following quadratic equations
has roots, 3,57

Az?—152+8=0

B.z’ — 8z +15=0

Cz’+3x+5=0

D.z2 + 82 —15=0

Answer: B



https://dl.doubtnut.com/l/_MbukAz3UhJYl
https://dl.doubtnut.com/l/_ejyygDaQpt3B

\ o Watch Video Solution

40. Choose the correct answer for the
following questions.

(vi) Out of the following equations, find the
equation having the sum

of its roots -5.

A3z —152+3=0

B.z’ — 52 +3=0

Cz’+3zx—-5=0


https://dl.doubtnut.com/l/_ejyygDaQpt3B
https://dl.doubtnut.com/l/_clx6se8SN9tb

D.3z2 + 152 +3 =0

Answer: D

° Watch Video Solution

41. /5m? — /bm + /5 = 0 which of the
following statement is true
for this given equation ?

A. Real and unequal roots

B. Real and equal roots


https://dl.doubtnut.com/l/_clx6se8SN9tb
https://dl.doubtnut.com/l/_frHN2QqTrDdy

C. Roots and not real

D. Three roots

Answer: C

o Watch Video Solution

42. Choose the correct answer for the
following questions.
(viii) One of the roots of equation

zc2—i—mzc—5:0i52,ﬁndm.


https://dl.doubtnut.com/l/_frHN2QqTrDdy
https://dl.doubtnut.com/l/_Hk9HH73PSoFj

Answer: C

o Watch Video Solution

43. Which of the following equation is
quadratic?

(i)z? + 2z + 11 = 0.


https://dl.doubtnut.com/l/_Hk9HH73PSoFj
https://dl.doubtnut.com/l/_n2h54xsTkxdm

° Watch Video Solution

44, Which of the following equation s
quadratic?

(i) 22 — 22 + 5 = 2.

° Watch Video Solution

45. Which of the following equation s
quadratic?

(iii) (z + 2)° = 227

| e |


https://dl.doubtnut.com/l/_n2h54xsTkxdm
https://dl.doubtnut.com/l/_KLD6an8BdqQR
https://dl.doubtnut.com/l/_RtEtf2zpDL83

& Watch Video Solution I

46. Find the value of discriminat for each of

the following equations.

)2y  —y+2=0.

° Watch Video Solution

47. Find the value of discriminat for each of

the following equations.

(i) 5m? — m = 0.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_RtEtf2zpDL83
https://dl.doubtnut.com/l/_6cbbJG4qu1Fk
https://dl.doubtnut.com/l/_mDjHnGNgs2Hd

48. Find the value of discriminat for each of

the following equations.

(ii)y/5z® — 2z — /5 = 0.

° Watch Video Solution

49. One of the roots of quadratic equation

222 + kx — 2 = Ois -2. Find k.

o Watch Video Solution



https://dl.doubtnut.com/l/_mDjHnGNgs2Hd
https://dl.doubtnut.com/l/_o2PkSRr9Bcl6
https://dl.doubtnut.com/l/_QHA1z0xWtcfZ
https://dl.doubtnut.com/l/_88V0cYpansR5

50. Two roots of quadratic equations are
given, frame the equation.

10 and — 10

o Watch Video Solution

51. Two roots of quadratic equations are given:

frame the equation.

(i) 1 — 34/5 and 1 + 3,/5.

o Watch Video Solution



https://dl.doubtnut.com/l/_88V0cYpansR5
https://dl.doubtnut.com/l/_MIW8FCGD8jlK
https://dl.doubtnut.com/l/_zjzKgSyMsx4N

52. Two roots of quadratic equations are
given: frame the equation.

(ili) 0 and 7

o Watch Video Solution

53. Determine the nature of roots for each of
the quadratic equation.

M)3x2 -5z +7=0

o Watch Video Solution



https://dl.doubtnut.com/l/_zjzKgSyMsx4N
https://dl.doubtnut.com/l/_nLnQqNyeRltz
https://dl.doubtnut.com/l/_hEhl0P7b07iV

54, Determine the nature of roots for each of

the quadratic equation.

(i) /322 + /22 — 2/3 =10

o Watch Video Solution

55. Determine the nature of roots for each of
the quadratic equations.

m?>—2m+1=0

o Watch Video Solution



https://dl.doubtnut.com/l/_hEhl0P7b07iV
https://dl.doubtnut.com/l/_4m8hialborzh

56. Solve the following quadratic equations.

1 1

Vexs ~ 2

o Watch Video Solution

57. Solve the following quadratic equations.

QY A
770 10

o Watch Video Solution



https://dl.doubtnut.com/l/_mwck8UVROoeu
https://dl.doubtnut.com/l/_WHhGsRdr7fwX

58. Solve the following quadratic equations.

(iii) (22 + 3)* = 25

o Watch Video Solution

59. Solve the following quadratic equations.

(ivym? +5m+5=0

o Watch Video Solution



https://dl.doubtnut.com/l/_jm5pnwGqFVbT
https://dl.doubtnut.com/l/_L7glnaWGM75d

60. Solve the following quadratic equations.

W5m?+2m+1=0

o Watch Video Solution

61. Solve the following quadratic equations :

23 —4r —3=0

o Watch Video Solution



https://dl.doubtnut.com/l/_FiW1Uzwn48Wo
https://dl.doubtnut.com/l/_8b9tqQurFUQX

62. Find m if
(m —12)z* + 2(m — 12)z +2 = 0 has real

and equal roots.

o Watch Video Solution

63. The sum of two roots of a quadratic
equation is 5 and sum of their cubes is 35.

Find the equation.

o Watch Video Solution



https://dl.doubtnut.com/l/_LNFFztTj8pS9
https://dl.doubtnut.com/l/_425Ftrn5kgV0
https://dl.doubtnut.com/l/_SFrtX9RAvc8z

64. Find quadratic equation such that its roots
are square of sum of the roots and square of

difference  of the roots of equation

20> +2(p+ @)z +p* +¢° =0

o Watch Video Solution

65. Mukund possesses Rs. 50 more than what
Sagar possesses. The product of the amount
they have is 15,000. find the amount each one

has.

o Watch Video Solution



https://dl.doubtnut.com/l/_SFrtX9RAvc8z
https://dl.doubtnut.com/l/_A1VkZwfAJ2pD

66. The difference between squares of two
numbers is 120. The square
of smaller number is twice the greater

number. Find the numbers.

o Watch Video Solution

67. Ranjana wants to distribute 540 oranges

among some students. If 30 students were


https://dl.doubtnut.com/l/_A1VkZwfAJ2pD
https://dl.doubtnut.com/l/_dGzxaWNAoopK
https://dl.doubtnut.com/l/_6jueIumenRG5

more, each would get 3 oranges less. Find the

number of students.

o Watch Video Solution

68. Mr. Dinesh owns an agricultural farm at
village Talvel. The length of the farm is 10
meter more than twice the breadth. In order
to harvest rain water, he dug a square shape

- . 1
pond inside the farm. The side of pond is 3

times of the breadth of the farm. The area of

the farm is 20 times the area of the pond. Find


https://dl.doubtnut.com/l/_6jueIumenRG5
https://dl.doubtnut.com/l/_RtnTS6McNOHy

the length and breadth of the farm and of the

pond.

° Watch Video Solution

69. A tank fills completely in 2 hours if both the
taps are open. If only one of the taps is open
at the given time, the smaller tap takes 3
hours more than the larger one to fill the tank.
How much times does each tap take to fill the

tank completely?

° Watch Video Solution



https://dl.doubtnut.com/l/_RtnTS6McNOHy
https://dl.doubtnut.com/l/_ckIqvOCGqz1N

Multiple Choice Questions

1. Which of the following is not a quadratic

equation?

A(i)dz? +22 +2=0

1
B.(ilm+ — =5
™m

C.(iii) (p+ 10)(p—5) =0

¢ +1

D. (iv) 7

=3q+9

Answer: D


https://dl.doubtnut.com/l/_ckIqvOCGqz1N
https://dl.doubtnut.com/l/_9vLmfYNuguMn

° Watch Video Solution

1
2. If the qudratic equation 3z + Pl + 3is
written in standard

form, then

A(iJ)a=3,b=3,c=1

B.(ila=3,b= —3,c=1
C.(iila=2,b= —3,c=1
D.(ivya =3,b= —3,c=3

Answer: C


https://dl.doubtnut.com/l/_9vLmfYNuguMn
https://dl.doubtnut.com/l/_cPl8C0V3C4LU

° Watch Video Solution

3. Which of the following equation has 3 as a
root?

A@@)3z2—6x—-2=0

B. (i) 222 — 5z — 3 =10

C.(iii) 222 — 7z — 6 = 0

D.(iv)3z? — 10z — 8 = 0

Answer: B

| 8 l


https://dl.doubtnut.com/l/_cPl8C0V3C4LU
https://dl.doubtnut.com/l/_CWhRjbqwZl9I

4. If one root of the quadratic equation
p* —3p+ k = 0is 5, then
the value of k is

A ()0

B. (ii) 10

C. (iii) — 10

D. (iv) 5

Answer: C

[ 1


https://dl.doubtnut.com/l/_CWhRjbqwZl9I
https://dl.doubtnut.com/l/_60rcx3of2NVY

I 0 Watch Video Solution

5. The roots of the quadratic equation
z? + 5¢ + 6 = Oare

A (i) 2,3

B. (ii) —2, 3

C.(iii) 2, — 3

D.(iv) —2, — 3

Answer: D

[ ° Watch Video Solution



https://dl.doubtnut.com/l/_60rcx3of2NVY
https://dl.doubtnut.com/l/_O06I0bPVvZvE

6.Solve: 4,/3z* + 5z — 2,/3 = 0.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_O06I0bPVvZvE
https://dl.doubtnut.com/l/_6d1NDEV7TuFw
https://dl.doubtnut.com/l/_rFarZvcueKTg

7. Which term must be added and subtracted
to solve the quadratic equation
322 — 52 +2=0 by the method of
completing the

square?

A. (1) 25

B. (ii) §
4

C. (i) E
9
25

D. (iv) 36

Answer: D

1


https://dl.doubtnut.com/l/_rFarZvcueKTg

I o Watch Video Solution

8. The roots of the quadratic equation

m?> —3m +1=0are

Answer: C

I o Watch Video Solution


https://dl.doubtnut.com/l/_rFarZvcueKTg
https://dl.doubtnut.com/l/_smyNYcQp3kaU

9. The discriminate (A) of the quadratic
equation 3z + 2z — 9 =0
Is

A (i) 112

B. (i) — 112

C. (iii) 56

D. (iv) 0

Answer: A

| N |


https://dl.doubtnut.com/l/_smyNYcQp3kaU
https://dl.doubtnut.com/l/_ZC2Ow7OrhXjC

| ¥ Watch Video Solution |

10. If the discriminant (A) of the quadratic
equation
4z% + dx + 25 = 0is zero, then the value of d
is /are

A. (1) 10

B. (i) =10

C. (ii1) 20

D. (iv) £20


https://dl.doubtnut.com/l/_ZC2Ow7OrhXjC
https://dl.doubtnut.com/l/_1vbGzPYkCeyK

Answer: D

o Watch Video Solution

1. The roots of the qudratic equation

922 — 6z +1 = 0are

A. (i) real and equal

B. (ii) non real

C. (iii) real and unequal

D. (iv) none of these


https://dl.doubtnut.com/l/_1vbGzPYkCeyK
https://dl.doubtnut.com/l/_ylG3e4a30fGQ

Answer: A

o Watch Video Solution

12. The roots of the

222 — 6z + 3 = 0 are

A. (i) real and equal

B. (ii) real and unequal

C. (iii) not real

D. (iv) none of these

equation


https://dl.doubtnut.com/l/_ylG3e4a30fGQ
https://dl.doubtnut.com/l/_KNYxJFptcM9x

Answer: B

o Watch Video Solution

13. Which of the following equations has no
real roots?

AM2z> —3z+5=0

B.(i))3z> — 2z —8=10

C.(iii)4z® + 4z +1 =0

D.(iV3z2 -4z +1=0


https://dl.doubtnut.com/l/_KNYxJFptcM9x
https://dl.doubtnut.com/l/_tqcKVcSj7qDU

Answer: A

o Watch Video Solution

14. If o and B are the roots of the quadratic
equation

3m? + 2m — 4 = 0,then o + % =

A G 28

8 (i — 28
.(II) T

. 12
C. (iii) 9
—12

D. (iv) 9



https://dl.doubtnut.com/l/_tqcKVcSj7qDU
https://dl.doubtnut.com/l/_tFwZvfBGXks5

Answer: A

o Watch Video Solution

15. If a and (8 are the roots of the quadratic

equation
2?3z 2= 0then &4 P =
I5; o

A. (i) ’

<Al 5

5. (i) -3

(i —5

13

C. (i) 5


https://dl.doubtnut.com/l/_tFwZvfBGXks5
https://dl.doubtnut.com/l/_tkn5Bp8jfd6N

- —13
D. (iv)

Answer: D

° Watch Video Solution

16. If the roots of a quadratic equation are -1

and 3, then the quadratic equation is

Az -2z —-3=0

B.(iNz2 +2x —3=0

C.(iiNz> —22+3=0


https://dl.doubtnut.com/l/_tkn5Bp8jfd6N
https://dl.doubtnut.com/l/_H1MgVZIK2gYC

D.(iv) 22 + 2z +3 =0

Answer: A

o Watch Video Solution

17. Which of the following is not a quadratic

equation?

Adz? +22+2=0

1
Bm-+ — =5
m

C.(p+10)(p—5) =0


https://dl.doubtnut.com/l/_H1MgVZIK2gYC
https://dl.doubtnut.com/l/_jUXBiKM0vC43

Answer: D

o Watch Video Solution

1
18. If the qudratic equation 3z + Pl + 3
is written in standard
form, then
A. a=3,b=3,c=1

B. a=3,b=-3,c=1


https://dl.doubtnut.com/l/_jUXBiKM0vC43
https://dl.doubtnut.com/l/_ilAAZKSX6k4F

C. a=2,b=-3,c=1

D. a=3,b=-3,c=3

Answer: C

° Watch Video Solution

19. Which of the following equation has 3 as a

root?

A3z —6x2—-2=0

B.222 — 52 —3 =0


https://dl.doubtnut.com/l/_ilAAZKSX6k4F
https://dl.doubtnut.com/l/_gBCN3yNYaN1A

C.22° —Tx —6=0

D.3z2 — 10z — 8 =0

Answer: B

° Watch Video Solution

20. If one root of the quadratic equation
p* —3p+k = 0is 5, then

the value of k is

A.O


https://dl.doubtnut.com/l/_gBCN3yNYaN1A
https://dl.doubtnut.com/l/_KOBbNQD8vRTg

B.10

C.-10

D.5

Answer: C

o Watch Video Solution

21. The roots of the quadratic equation

2 + 52 + 6 = 0 are

A 23


https://dl.doubtnut.com/l/_KOBbNQD8vRTg
https://dl.doubtnut.com/l/_hVQI8kzn2Bqw

B.—2 3

C.2, —3

D.—2, —3

Answer: D

o Watch Video Solution

22. The roots of the quadratic equation

4./3z* 4 5z — 2,/3 = O are

A\/§2
Srahy



https://dl.doubtnut.com/l/_hVQI8kzn2Bqw
https://dl.doubtnut.com/l/_LHgZzEBgBr0S

s V3 2
T A
c.\/§2
2.3
5 V3 2
2’ /3

Answer: B

o Watch Video Solution

23. Which term must be added and subtracted
to solve the quadratic equation

322 —52+2=0 by the method of


https://dl.doubtnut.com/l/_LHgZzEBgBr0S
https://dl.doubtnut.com/l/_k5TuP8DOdkqT

completing the

square?

A. 25

25

4
25
"9
25

D. —
36

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_k5TuP8DOdkqT

24. The roots of the quadratic equation

m? —3m +1=0are

A3, 1

: —3++v56 —3-4/5

2 2

c 3++v5 3—45

2 2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_UqYmkBAwua5O
https://dl.doubtnut.com/l/_i2YHn0YVwC8W

25. The discriminate (A) of the quadratic
equation 3z° + 2z — 9 =0
Is

A 112

B.-112

C. 56

D.O

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_i2YHn0YVwC8W
https://dl.doubtnut.com/l/_4p3Qn2SwmdJt

26. If the discriminant (A) of the quadratic
equation
4z% + dx + 25 = 0is zero, then the value of d
is /are

A. 10

B.+10

C.20

D. £20

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_4p3Qn2SwmdJt

27. The roots of the qudratic equation

922 — 6z +1 = 0are

A.real and equal

B. not real

C. real and unequal

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_4p3Qn2SwmdJt
https://dl.doubtnut.com/l/_GUWII5axdpTU

28. The roots of the equation

222 — 62 + 3 = 0 are

A. real and equal

B. real and unequal

C. not real

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_qbMBssJHxIBZ
https://dl.doubtnut.com/l/_NsolFoTNmg2K

29. Which of the following equations has no

real roots?

A2z2 -3z +5=0

B.3z2 — 22 — 8 =0

Car’> +4x +1=0

D.3z22 — 4z +1=0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_NsolFoTNmg2K

30. If a and (8 are the roots of the quadratic
equation

3m? + 2m — 4 = 0,then o + B =

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_RYTxMLbc5vnE

31. If a and (8 are the roots of the quadratic
equation
B

22 — 3z — 2 = 0,then = + 2 —
I5; o

e
2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_TJHU46q7E5Lv

32. If the roots of a quadratic equation are -1

and 3, then the quadratic equation is

Az> -2 —-3=0

B.z2 4+ 2z —3=0

Cx?—2r+3=0

D.z> +2x +3=0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ElndgnnZu2wJ

Additional Problems For Practice Based On

Practice Set 2 1

1. Which of the following are qudratic
equations?

(i) 22—z —-5=0

(i)y> +4=3y—1

(iii) 3z° — 5z + 3 = 0

(ivye — 3 =4x

W (y—2)(y+2) =0

1
(vi)p+3=—
vi) p 2
wm§—4:y

” .

| & ]


https://dl.doubtnut.com/l/_QpQ0fF7oIafe

| ' Watch Video Solution |

2. Write the following equations in the form
az’ +bx +c=0.
Also, find the value of a,b and c.

(i)t2 — 3t = 4 — 2.

° Watch Video Solution

3. Write the following equations in the form

ax’® +bx +c = 0.


https://dl.doubtnut.com/l/_QpQ0fF7oIafe
https://dl.doubtnut.com/l/_uTNgFqtdHi50
https://dl.doubtnut.com/l/_c7N8uQv6najs

Also, find the value of a,b and c.

(i)z? — 3z = — 1.

° Watch Video Solution

4. Write the following equations in the form
az® +bx +c = 0.
Also, find the value of a,b and c.

(iii) (z + 5)(x — 1) = 6

o Watch Video Solution



https://dl.doubtnut.com/l/_c7N8uQv6najs
https://dl.doubtnut.com/l/_PyYRQmgfZqoa

5. Write the following equations in the form
azx’® + bx + ¢ = 0.

Also, find the value of a,b and c.

az+5

(iv) -3

o Watch Video Solution

6. Determine whether the value given against
each of the gaudratic equation are the roots

of the equation.

Hax?+bx—-6=02z= —6,2

| & ]


https://dl.doubtnut.com/l/_2k1Dv1Ljp3to
https://dl.doubtnut.com/l/_o8Qs6zkCNuQk

| ' Watch Video Solution |

7. What are the roots of the quadratic

equation 2z® — 7z +6 =07

o Watch Video Solution

8. Determine whether the value given against
each of the gaudratic equation are the roots
of the equation.

iz +3z—-4=0,z=1, —2, — 3.

I o Watch Video Solution


https://dl.doubtnut.com/l/_o8Qs6zkCNuQk
https://dl.doubtnut.com/l/_QCAc6A74uR2v
https://dl.doubtnut.com/l/_gQEhh86PEW7U

9. Determine whether the value given against
each of the gaudratic equation are the roots

of the equation.

(ivy(im+1)(m+3) =0m=1, —1,2

o Watch Video Solution

10. If one root of the quadratic equation
kx’~ 7z +5 = 0is 1,

then find the value of k.



https://dl.doubtnut.com/l/_gQEhh86PEW7U
https://dl.doubtnut.com/l/_uKsHe60oJafR
https://dl.doubtnut.com/l/_GGaShkNW8Zdj

I D Watch Video Solution

11. Find k, one of the roots of the quadratic
equation

kx’— Tz + 12 = Ois 3.

o Watch Video Solution

12. If one of the roots of the quadratic
equation z°~ 7z + k = O'is 4,

then find the value of k.

l €@ Watch Video Solution


https://dl.doubtnut.com/l/_GGaShkNW8Zdj
https://dl.doubtnut.com/l/_GubUKNAZSEvK
https://dl.doubtnut.com/l/_aVrIq0QpZ1aF

13. Which of the following are qudratic
equations?

iz —z—5=0

iy +4=3y—1

(i) 3z — 5z +3 =0

(ivie — 3 = 4x

o Watch Video Solution



https://dl.doubtnut.com/l/_aVrIq0QpZ1aF
https://dl.doubtnut.com/l/_r2QleOpgVDYY

14. Write the following equations in the form
azx’® + bx + ¢ = 0.
Also, find the value of a,b and c.

(i)t — 3t = 4 — 2.

o Watch Video Solution

15. Write the following equations in the form
az’ +bx +c=0.
Also, find the value of a,b and c.

(i)z? — 3z = — 1.


https://dl.doubtnut.com/l/_r2QleOpgVDYY
https://dl.doubtnut.com/l/_8vxdPBnQP7kl
https://dl.doubtnut.com/l/_vINOHmcZmI7z

° Watch Video Solution

16. Write the following equations in the form
azx’® + bx + ¢ = 0.
Also, find the value of a,b and c.

(i) (z + 5)(z — 1) = 6

o Watch Video Solution

17. Write the following equations in the form

ar’ +br +c=0.


https://dl.doubtnut.com/l/_vINOHmcZmI7z
https://dl.doubtnut.com/l/_kKAfshqlJd4k
https://dl.doubtnut.com/l/_KJYKei2Y1Vge

Also, find the value of a,b and c.

+5
z” _3

(iv)

° Watch Video Solution

18. Determine whether the value given against
each of the gaudratic equation are the roots
of the equation.

Hz?+5z—6=0,2z= —6,2

° Watch Video Solution



https://dl.doubtnut.com/l/_KJYKei2Y1Vge
https://dl.doubtnut.com/l/_axZ7CYroF73y

19. Determine whether the value given against
each of the gaudratic equation are the roots
of the equation.

(iiyz* +3z —4=0,z =1, —2, — 3.

o Watch Video Solution

20. Determine whether the value given against
each of the gaudratic equation are the roots

of the equation.

(ivy(m+1)(m+3)=0m=1, — 1,2

| & I


https://dl.doubtnut.com/l/_SI6cjhhgAA3O
https://dl.doubtnut.com/l/_nLWn62UYOS5l

| ¥ Watch Video Solution |

21. If one root of the quadratic equation
kx’—~Tx +5 = 0is 1,

then find the value of k.

o Watch Video Solution

22. Find k, one of the roots of the quadratic
equation

kx’— 7z + 12 = 0is 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_nLWn62UYOS5l
https://dl.doubtnut.com/l/_AVBzqxm7vuaV
https://dl.doubtnut.com/l/_Ijq26pMdWeGw

23. If one of the roots of the quadratic
equation 2>~ 7z + k = Qs 4,

then find the value of k.

o Watch Video Solution

Additional Problems For Practice Based

Practice Set 2 2



https://dl.doubtnut.com/l/_Ijq26pMdWeGw
https://dl.doubtnut.com/l/_NNJ4MMT1ShX1

1. Solve the following quadratic equation by
factorisation method:

Mz?+6x+5=0.

o Watch Video Solution

2. Solve the following quadratic equation by
factorisation method:

(i) 22 + 10z + 24 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_fCz6ar8eXdgX
https://dl.doubtnut.com/l/_VI8JGDtTyuC7
https://dl.doubtnut.com/l/_9nMslXB2P5yS

3. Solve the following quadratic equation
using factorization method:

z2 + 11z +24 =0

o Watch Video Solution

4. Solve the following quadratic equation by
factorisation method:

(iv) m? — 14m + 13 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_9nMslXB2P5yS
https://dl.doubtnut.com/l/_SlYRnaSeGBNx
https://dl.doubtnut.com/l/_iClPVWxZhO8T

5. Solve the following quadratic equation by

factorization method

2 —Te +12=0

o Watch Video Solution

6. Solve the following quadratic equation by

factorisation method:

(vi) z? — 3z — 28 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_iClPVWxZhO8T
https://dl.doubtnut.com/l/_2gAy99AJFC1F

7. Solve the following quadratic equation by
factorisation method:

(vii) ¢* — 2(7q + 16) = 0.

o Watch Video Solution

8. Solve the following quadratic equation by
factorisation method:

(viii) 3y = 15y.

o Watch Video Solution



https://dl.doubtnut.com/l/_NpQuc5KcuktY
https://dl.doubtnut.com/l/_E5PMbBQcdcnp
https://dl.doubtnut.com/l/_BqSJW07N4B89

9. Solve the following quadratic equation by
factorisation method:

(ix) z° = 3

o Watch Video Solution

10. Solve the following quadratic equation by
factorisation method:

(x) y? — 36 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_BqSJW07N4B89
https://dl.doubtnut.com/l/_mq577WSy8RIB
https://dl.doubtnut.com/l/_aOfOqBupzZ6N

11. Solve the following quadratic equation by

factorisation method:

(xi) 2 — 49 = 0.

o Watch Video Solution

12. Solve the following quadratic equation by
factorisation method:

(xii) 422 — 1 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_aOfOqBupzZ6N
https://dl.doubtnut.com/l/_zBWjA10fnqiP

13. Solve the following quadratic equation by

factorisation method:

(xiii) 9z° — 16 = 0

o Watch Video Solution

14. Solve the following quadratic equation by
factorisation method:

(xiv) 3y? — 14y + 8 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_H1pyxTCNYM8A
https://dl.doubtnut.com/l/_k4TkeHiLfaRo
https://dl.doubtnut.com/l/_QKZ34wL8HICI

15. Solve the following quadratic equation by
factorisation method:

(xv) 3z2 — z — 10 = 0.

o Watch Video Solution

16. Solve the following quadratic equation by
factorisation method:

(xvi) 322 — 29z + 40 = 0

o Watch Video Solution



https://dl.doubtnut.com/l/_QKZ34wL8HICI
https://dl.doubtnut.com/l/_9oaU7NDNf4JC
https://dl.doubtnut.com/l/_b9c9fnSRtIvT

17. Solve the following quadratic equation by

factorisation method:

. 35
(xvii) z + i 12, z # 0.

o Watch Video Solution

18. Solve the following quadratic equation by

factorisation method:

(xviii) 64/32> + Tz = /3.

o Watch Video Solution



https://dl.doubtnut.com/l/_b9c9fnSRtIvT
https://dl.doubtnut.com/l/_YcZ1uMnZvXpO

19. Solve the following quadratic equation by
factorisation method:

Mz?+6x+5=0.

o Watch Video Solution

20. Solve the following quadratic equation by
factorisation method:

(i) 22 + 10z + 24 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_zNDJHxr6wkDo
https://dl.doubtnut.com/l/_f9bDBrK9tCfV
https://dl.doubtnut.com/l/_jcAb5E8H3c69

21. Solve the following quadratic equation by
factorisation method:

(iii) 22 + 11z + 24 = 0.

o Watch Video Solution

22. Solve the following quadratic equation by
factorisation method:

(iv) m? — 14m + 13 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_jcAb5E8H3c69
https://dl.doubtnut.com/l/_X1Wfvu9eTfdq
https://dl.doubtnut.com/l/_7TlUNKL6XTDa

23. Solve the following quadratic equation by
factorisation method:

(V)2 — Tz + 12 = 0.

o Watch Video Solution

24. Solve the following quadratic equation by
factorisation method:

(vi) z? — 3z — 28 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_7TlUNKL6XTDa
https://dl.doubtnut.com/l/_FAsM6jRnoioC

25. Solve the following quadratic equation by
factorisation method:

(vii) ¢* — 2(7q + 16) = 0.

o Watch Video Solution

26. Solve the following quadratic equation by
factorisation method:

(viii) 3y = 15y.

o Watch Video Solution



https://dl.doubtnut.com/l/_WQdnv7nGaNPo
https://dl.doubtnut.com/l/_nwJZTssxwTjs
https://dl.doubtnut.com/l/_GqfnjX9S1Cpf

27. Solve the following quadratic equation by
factorisation method:

(ix) z° = 3

o Watch Video Solution

28. Solve the following quadratic equation by
factorisation method:

(x) y? — 36 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_GqfnjX9S1Cpf
https://dl.doubtnut.com/l/_5VzBnGCqeIxr
https://dl.doubtnut.com/l/_2IqMUqqC258L

29. Solve the following quadratic equation by
factorisation method:

(xi) 2 — 49 = 0.

o Watch Video Solution

30. Solve the following quadratic equation by
factorisation method:

(xii) 422 — 1 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_2IqMUqqC258L
https://dl.doubtnut.com/l/_ssSqfSZjosU8

31. Solve the following quadratic equation by

factorisation method:

(xiii) 9z° — 16 = 0

o Watch Video Solution

32. Solve the following quadratic equation by
factorisation method:

(xiv) 3y? — 14y + 8 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_FVsjIW9RG7hZ
https://dl.doubtnut.com/l/_E6j5CC9yDLCs
https://dl.doubtnut.com/l/_OaboAlzYyyhx

33. Solve the following quadratic equation by
factorisation method:

(xv) 3z2 — z — 10 = 0.

o Watch Video Solution

34. Solve the following quadratic equation by
factorisation method:

(xvi) 322 — 29z + 40 = 0

o Watch Video Solution



https://dl.doubtnut.com/l/_OaboAlzYyyhx
https://dl.doubtnut.com/l/_5Yaxp8MMP5yp
https://dl.doubtnut.com/l/_g91fW3wZYl9P

35. Solve the following quadratic equation by

factorisation method:

. 35
(xvii) z + i 12, z # 0.

o Watch Video Solution

36. Solve the following quadratic equation by
factorisation method:

(xviii) 64/32> + Tz = /3.

o Watch Video Solution



https://dl.doubtnut.com/l/_g91fW3wZYl9P
https://dl.doubtnut.com/l/_2nlbt3yUCbNo

Additional Problems For Practice Based On

Practice Set 2 3

1. Solve following quadratic equations by
completing the square
method.

(i) 22 + 8z — 48 = 0.

° Watch Video Solution

2. Solve the following quadratic equation by

completing square


https://dl.doubtnut.com/l/_w0BTGSSZ8RkP
https://dl.doubtnut.com/l/_6XCGKwY1JzNK

method:

z? + 11z +24 =0

° Watch Video Solution

3. Solve following quadratic equations by
completing the square
method.

3—O
5 =

(ifi) m? + %

o Watch Video Solution



https://dl.doubtnut.com/l/_6XCGKwY1JzNK
https://dl.doubtnut.com/l/_wDbcygk4EK1f

4. Solve following quadratic equations by
completing the square
method.

(iv) y* — 4y = 1.

° Watch Video Solution

5. Solve following quadratic equations by
completing the square
method.

Wz?—6x+4=0

| & I


https://dl.doubtnut.com/l/_UTe37E6tAnMF
https://dl.doubtnut.com/l/_pFn5zu5OVHRc

| ¥ Watch Video Solution |

6. Solve following quadratic equations by
completing the square
method.

i)z? +82 +9=0

o Watch Video Solution

7. Solve the following quadratic equation by

completing square: 22 + 4z — 7 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_pFn5zu5OVHRc
https://dl.doubtnut.com/l/_2ouuk0Tkolsv
https://dl.doubtnut.com/l/_kz7HPcefC7oe

8. Solve following quadratic equations by
completing the square
method.

(ii)t? + 2t =t + 3

o Watch Video Solution

9. Solve following quadratic equations by

completing the square


https://dl.doubtnut.com/l/_kz7HPcefC7oe
https://dl.doubtnut.com/l/_TYH7McFH4luw
https://dl.doubtnut.com/l/_t604eSk7riqN

method.

(ixm?2 —3m—1=0

° Watch Video Solution

10. Solve following quadratic equations by
completing the square

method.

522 — 4z — 3 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_t604eSk7riqN
https://dl.doubtnut.com/l/_ziweaHVk1KFl

11. Solve following quadratic equations by
completing the square
method.

(i) 22 + 8z — 48 = 0.

° Watch Video Solution

12. Solve the following quadratic equation by
completing square
method:

22+ 11z +24 =0

| I


https://dl.doubtnut.com/l/_Ng8V08ZFVjKD
https://dl.doubtnut.com/l/_cJGDBPZC2aNH

| ¥ Watch Video Solution |

13. Solve following quadratic equations by
completing the square
method.

9 ﬁ_i_
(|||)m—|—2 2—0

° Watch Video Solution

14. Solve following quadratic equations by

completing the square


https://dl.doubtnut.com/l/_cJGDBPZC2aNH
https://dl.doubtnut.com/l/_uWx2STRstybl
https://dl.doubtnut.com/l/_JFiqB8HeQV0f

method.

(iv) y° — 4y = 1.

° Watch Video Solution

15. Solve following quadratic equations by
completing the square

method.

Wz:—6x+4=0

o Watch Video Solution



https://dl.doubtnut.com/l/_JFiqB8HeQV0f
https://dl.doubtnut.com/l/_edoycgUTnbdZ

16. Solve following quadratic equations by
completing the square
method.

i)z? +82 +9=0

° Watch Video Solution

17. Solve the following quadratic equation by

completing square: 22 + 4z — 7 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_1pd8MpwBzFRL
https://dl.doubtnut.com/l/_E4jEjrbwT9ir
https://dl.doubtnut.com/l/_ZIrCSErpxlkK

18. Solve following quadratic equations by
completing the square
method.

(ii)t? +2t =t + 3

° Watch Video Solution

19. Solve following quadratic equations by
completing the square
method.

(ixxm?> —3m—1=0

o Watch Video Solution



https://dl.doubtnut.com/l/_ZIrCSErpxlkK
https://dl.doubtnut.com/l/_g2vpvfBVeXWH

20. Solve following quadratic equations by
completing the square
method.

522 — 4z — 3 = 0.

o Watch Video Solution

Additional Problems For Practice Based On

Practice Set 2 4



https://dl.doubtnut.com/l/_g2vpvfBVeXWH
https://dl.doubtnut.com/l/_iqZ79pvJIlp9

1. Solve the following quadratic equations by

using formula.

(Y m? — 14m + 13 = 0.

o Watch Video Solution

2. Solve the following quadratic equations by

using formula.

(i)z? — 22 — 3 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_DcjwMUc55t2Y
https://dl.doubtnut.com/l/_R6QRN6jiw0RY
https://dl.doubtnut.com/l/_fqUnhdXMTX5k

3. Solve the following quadratic equations
equation by using formula.

(iiiy m? — 3m — 10 = 0.

o Watch Video Solution

4. Solve the following quadratic equations
equation by using formula.

(iviz’ +z +5 =0,

o Watch Video Solution



https://dl.doubtnut.com/l/_fqUnhdXMTX5k
https://dl.doubtnut.com/l/_RfwGOYR0ztob
https://dl.doubtnut.com/l/_xVh3DFbPUo8C

5. Solve the following quadratic equations

equation by using formula.

1
(v)mz—am—Bzo

o Watch Video Solution

6. Solve the following quadratic equations by
using formula.

Vi)3y? + Ty +4=0

o Watch Video Solution



https://dl.doubtnut.com/l/_xVh3DFbPUo8C
https://dl.doubtnut.com/l/_1lMiefCydglS

7. Solve the following quadratic equations by
using formula.

(vii) 222 + 52 + 2 = 0.

o Watch Video Solution

8. Solve the following quadratic equations by

using formula.

(viii) 252 + 30z + 9 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_okHuUaIiFiHE
https://dl.doubtnut.com/l/_xjUUptiA8cxM
https://dl.doubtnut.com/l/_Di5jmxhav8gX

9. Solve the following quadratic equations by

using formula.

(ix) 7p* — 5p — 2 = 0.

o Watch Video Solution

10. Solve the following quadratic equations by

using formula.

(xiii) 2% — 3z = 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_Di5jmxhav8gX
https://dl.doubtnut.com/l/_y5enbIEYgXLD
https://dl.doubtnut.com/l/_JVMR1zOW0IN2

11. Solve the following quadratic equations by
using formula.

(xi) y? — 6y + 2 = 0.

o Watch Video Solution

12. Solve the following quadratic equations
equation by using formula.

(xii) 22 + 10z + 2 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_JVMR1zOW0IN2
https://dl.doubtnut.com/l/_BkfoWorBdsBC

13. Solve the following quadratic equations by

using formula method :

22— 32 -2=0

o Watch Video Solution

14. Solve the following quadratic equations
equation by using formula.

(xiv) 422 + Tz +2 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_W5abkXUwuED9
https://dl.doubtnut.com/l/_OZaHDJgI22R4
https://dl.doubtnut.com/l/_hmWIXdYeb0bs

15. Solve the following quadratic equation

using formula method:

6x> — Te — 1 = 0.

o Watch Video Solution

16. Solve the following quadratic equation by
factorisation method:

(iv) m? — 14m + 13 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_hmWIXdYeb0bs
https://dl.doubtnut.com/l/_8jDAEOw05TzI
https://dl.doubtnut.com/l/_K6ZLDxSa9V6o

17. Solve the following quadratic equations by
using formula.

(i)z? — 22 — 3 = 0.

o Watch Video Solution

18. Solve the following quadratic equations
equation by using formula.

(iiiy m? — 3m — 10 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_K6ZLDxSa9V6o
https://dl.doubtnut.com/l/_9a67QibGpsJe

19. Solve the following quadratic equations
equation by using formula.

(ivyz? +z+5=0.

o Watch Video Solution

20. Solve the following quadratic equations

equation by using formula.

1
(v)mz—am—Bzo

o Watch Video Solution



https://dl.doubtnut.com/l/_BxqzKHMZg32w
https://dl.doubtnut.com/l/_1HteFx1Y4FtL
https://dl.doubtnut.com/l/_pcnNmY7JI80E

21. Solve the following quadratic equations by
using formula.

vi)3y’ + Ty+4=0

o Watch Video Solution

22. Solve the following quadratic equations by
factorisation method :

222 + 52 +2 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_pcnNmY7JI80E
https://dl.doubtnut.com/l/_LfY9rztoW97A
https://dl.doubtnut.com/l/_ypptZVlzoFOY

23. Solve the following quadratic equations by
using formula.

(viii) 252 + 30z + 9 = 0.

o Watch Video Solution

24. Solve the following quadratic equations
equation by using formula.

(ix) 7p* — 5p — 2 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_ypptZVlzoFOY
https://dl.doubtnut.com/l/_1mRQ3jC6xctP

25. Solve the following quadratic equations
equation by using formula.

(x) 3¢°> — 29 = 8.

o Watch Video Solution

26. Solve the following quadratic equations
equation by using formula.

(xi) y* — 6y +2 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_WDmyHqbthDPa
https://dl.doubtnut.com/l/_BHCthierewPt
https://dl.doubtnut.com/l/_ASfpK3lRDq7C

27. Solve the following quadratic equations
equation by using formula.

(xii) 22 + 10z + 2 = 0.

o Watch Video Solution

28. Solve using formula.

(iz2 -3z —2=0

o Watch Video Solution



https://dl.doubtnut.com/l/_ASfpK3lRDq7C
https://dl.doubtnut.com/l/_azfb3yxqtjMc

29. Solve the following quadratic equations
equation by using formula.

(xiv) 422 + Tz +2 =0

o Watch Video Solution

30. Solve the following quadratic equations
equation by using formula.

(xv) Tz + 1 = 6x°.

o Watch Video Solution



https://dl.doubtnut.com/l/_9WbUBPcPwt8P
https://dl.doubtnut.com/l/_B8Ra6F5INPAW

Additional Problems For Practice Based On

Practice Set 25

1. Find the value of discriminant of the

following quadratic equations.

i)z + 10z — 7= 0.

o Watch Video Solution

2. Find the value of discriminant of the

following quadratic equations.

(i)22> — 3z +5=0



https://dl.doubtnut.com/l/_FZqN72GysrAu
https://dl.doubtnut.com/l/_W1WJ5rfYRE1z

o Watch Video Solution

3. Find the value of discriminant of the
following quadratic equations.

(ii)2m? +m —1=0.

o Watch Video Solution

4. Find the value of discriminant of the

following quadratic equations.

(iv) 3z° — 4,/3z +4 = 0.

| & I


https://dl.doubtnut.com/l/_W1WJ5rfYRE1z
https://dl.doubtnut.com/l/_SpVaHPGH14lY
https://dl.doubtnut.com/l/_6Y5RkxqS3s01

| ¥ Watch Video Solution |

5. Find the value of the discriminant (A) for

the quadratic equation 2 + 7z + 6 = 0

o Watch Video Solution

6. Determine the nature of roots of the
following quadratic equations.

(i)9z% + 62 +1 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_6Y5RkxqS3s01
https://dl.doubtnut.com/l/_kkNxmP44ZD5x
https://dl.doubtnut.com/l/_a91jXlSZ01EM

7. Determine the nature of roots of the

following quadratic equations.

(i) p* — /3p + 2 = 0.

o Watch Video Solution

8. Determine the nature of roots of the
following quadratic equations.

(i) 222 — 3z — 2 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_EnN3UHAS0AC7
https://dl.doubtnut.com/l/_mHQ4LD3pq70K
https://dl.doubtnut.com/l/_a8FAZY9jFnYQ

9. Determine the nature of roots of the

following quadratic equations.

(iv) 222 — 52 + 7 = 0.

o Watch Video Solution

10. Determine the nature of roots of the

following quadratic equations.

(v) /322 + 24/3z + /3 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_a8FAZY9jFnYQ
https://dl.doubtnut.com/l/_rzZtAijYeKUV
https://dl.doubtnut.com/l/_GntJqBlhHGcm

1. If « and B are the roots of the quadratic
equation
2z° + 6z —5 =0, then find (o + B) and

a X B.

o Watch Video Solution

12. Form the quadratic equation, if its roots
are

(i) 10 and 3

o Watch Video Solution



https://dl.doubtnut.com/l/_GntJqBlhHGcm
https://dl.doubtnut.com/l/_ZuvZTFCi6sam
https://dl.doubtnut.com/l/_IxMzRJjpRNAa

13. Form the quadratic equation, if its roots
are

(i) 4 and 5

o Watch Video Solution

14. Form the quadratic equation, if its roots
are

(iii) 5and 7

o Watch Video Solution



https://dl.doubtnut.com/l/_IxMzRJjpRNAa
https://dl.doubtnut.com/l/_JzV53z5KMx2a
https://dl.doubtnut.com/l/_Buqe1Mmclt8V

15. Form the quadratic equation, if the roots
are

3 and 8

o Watch Video Solution

16. Form the quadratic equation if its roots are

3 and -4.

o Watch Video Solution



https://dl.doubtnut.com/l/_Buqe1Mmclt8V
https://dl.doubtnut.com/l/_J4GUjkWexF6P

17. Obtain a quadratic equation whose roots

are -3 and 7.

o Watch Video Solution

18. Form the quadratic equation, if its roots
are

(vit) 4 and 2
VI all 3

o Watch Video Solution



https://dl.doubtnut.com/l/_ORZK0OkywAwP
https://dl.doubtnut.com/l/_Avyagx26Deai

19. Form the quadratic equation, if its roots

are

—25 25
and —.

8 8

(viii)

o Watch Video Solution

20. Find k, if the roots of the quadratic

equation kz* — 42 + 4 = 0 are equal

o Watch Video Solution



https://dl.doubtnut.com/l/_DLqClxjRdbnd
https://dl.doubtnut.com/l/_mAr1tlAr1Eb4

21. Find the value (s) of k for which the given
quadratic equations has

real and equal roots:

(i) 922 + 8kx + 16 = 0.

o Watch Video Solution

22. Find the value (s) of k for which the given
quadratic equations has

real and equal roots:

(ii) kz (z — 24/5) + 10 = 0.

| & I


https://dl.doubtnut.com/l/_eI2tO8pbqxr2
https://dl.doubtnut.com/l/_q0phVu3h5XfN

| ¥ Watch Video Solution |

23.Find m, if the quadratic equation
(m—1z* —2(m -1z +1=0 has real

and equal roots.

o Watch Video Solution

24. If o and B are the roots of the equation
z® — 9z + 14 = 0, find

(i) a® + B2

o Watch Video Solution



https://dl.doubtnut.com/l/_q0phVu3h5XfN
https://dl.doubtnut.com/l/_6pABhW9kWqkM
https://dl.doubtnut.com/l/_UAe8ufSa1DS7

25. If a and B are the roots of the equation
z® — 9z + 14 = 0, find

(ii) (o — B)°.

o Watch Video Solution

26. If o and B are the roots of quadratic
equation z° + 5z — 1 = 0

then, find (i) &® + 83 (i) a® + B2

o Watch Video Solution



https://dl.doubtnut.com/l/_UAe8ufSa1DS7
https://dl.doubtnut.com/l/_JwOCCZmGsc2m
https://dl.doubtnut.com/l/_v5daZtutpma4

27. If a and B are the roots of quadratic
equation z° + 5z — 1 = 0

then, find (i) &® + 83 (i) a® + B2

o Watch Video Solution

28. The difference between the roots of the
equation

2 — 13z + k = 0is 7, find k.

o Watch Video Solution



https://dl.doubtnut.com/l/_v5daZtutpma4
https://dl.doubtnut.com/l/_mtySsz8xtnUj
https://dl.doubtnut.com/l/_TtxKnz9TS6UO

29. Find k if the sum of the roots of the
quadratic equation 42* + 8kz +k +9 =0 is

equal to their product.

o Watch Video Solution

30. If the sum of the roots of the quadratic
equation is 3 and sum of

their cubes is 63, find the quadratic equation.

o Watch Video Solution



https://dl.doubtnut.com/l/_QL1TlMxFI4ta
https://dl.doubtnut.com/l/_DPmGaQjCeCVf
https://dl.doubtnut.com/l/_NdSLkDfQe5yl

31. Find the value of discriminant of the

following quadratic equations.

i)z + 10z — 7= 0.

o Watch Video Solution

32. Find the value of discriminant of the

following quadratic equations.

(i)22> — 3z +5=0

o Watch Video Solution



https://dl.doubtnut.com/l/_NdSLkDfQe5yl
https://dl.doubtnut.com/l/_N2heonrB6cND
https://dl.doubtnut.com/l/_KxEtqS6lLEmx

33. Find the value of discriminant of the
following quadratic equations.

(ii)2m? +m —1=0.

o Watch Video Solution

34. Find the value of discriminant of the

following quadratic equations.

(iv) 3z° — 4,/3z +4 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_KxEtqS6lLEmx
https://dl.doubtnut.com/l/_dE9yLoOSSJIB

35. Find the value of the discriminant (A) for

the quadratic equation 2 + 7z + 6 = 0

° Watch Video Solution

36. Determine the nature of roots of the
following quadratic equations.

(i)9z% + 62 +1 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_PgdR8N9V3E72
https://dl.doubtnut.com/l/_GrdM5zDgmMkj

37. Determine the nature of roots of the

following quadratic equations.

(i) p* — /3p + 2 = 0.

o Watch Video Solution

38. Determine the nature of roots of the
following quadratic equations.

(i) 222 — 3z — 2 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_ojdyMvJWHQl6
https://dl.doubtnut.com/l/_uExbRlNoDTK2
https://dl.doubtnut.com/l/_Wmz8Sa6L5kLD

39. Determine the nature of roots of the

following quadratic equations.

(iv) 222 — 52 + 7 = 0.

o Watch Video Solution

40. Determine the nature of roots of the

following quadratic equations.

(v) /322 + 24/3z + /3 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_Wmz8Sa6L5kLD
https://dl.doubtnut.com/l/_zp9872OKtDFT
https://dl.doubtnut.com/l/_iuzBK1WwvKsZ

41. If a and B are the roots of the quadratic
equation
2z° + 6z —5 =0, then find (o + B) and

a X B.

o Watch Video Solution

42. Form the quadratic equation, if its roots
are

(i) 10 and 3

o Watch Video Solution



https://dl.doubtnut.com/l/_iuzBK1WwvKsZ
https://dl.doubtnut.com/l/_ax6IU3BIcRFq
https://dl.doubtnut.com/l/_I8niT94gHcs7

43. Form the quadratic equation, if its roots
are

(i) 4 and 5

o Watch Video Solution

44, Form the quadratic equation, if its roots
are

(iii) 5and 7

o Watch Video Solution



https://dl.doubtnut.com/l/_I8niT94gHcs7
https://dl.doubtnut.com/l/_dZmFMaEv7N0f
https://dl.doubtnut.com/l/_QjRbfvybPWqK

45, Form the quadratic equation, if the roots
are

3 and 8

o Watch Video Solution

46. From the quadratic equation, if its roots
are

(v) 3and -4

o Watch Video Solution



https://dl.doubtnut.com/l/_QjRbfvybPWqK
https://dl.doubtnut.com/l/_YeD7XXFH5Obq

47. From the quadratic equation, if its roots
are

(vi) -3 and -7

o Watch Video Solution

48. Form the quadratic equation, if its roots

are

(vii) 4 and 2
Vii ar 3

o Watch Video Solution



https://dl.doubtnut.com/l/_8DeFBjMy7Jsd
https://dl.doubtnut.com/l/_bcjm8G5FuzET
https://dl.doubtnut.com/l/_vp16gDFaMwUw

49. Form the quadratic equation, if its roots

are

—25 25
3 and e

(viii)

o Watch Video Solution

50. Find k, if the roots of the quadratic

equation kz* — 42 + 4 = 0 are equal

o Watch Video Solution



https://dl.doubtnut.com/l/_vp16gDFaMwUw
https://dl.doubtnut.com/l/_YcynvQ7RiYy2

51. Find the value (s) of k for which the given
quadratic equations has

real and equal roots:

(i) 922 + 8kx + 16 = 0.

o Watch Video Solution

52. Find the value (s) of k for which the given
quadratic equations has

real and equal roots:

(ii) kz (z — 24/5) + 10 = 0.

| & I


https://dl.doubtnut.com/l/_ssqV2NJ8eXx5
https://dl.doubtnut.com/l/_hGNx621M20e4

| ¥ Watch Video Solution |

53.Find m, if the quadratic equation
(m—1z* —2(m -1z +1=0 has real

and equal roots.

o Watch Video Solution

54. If o and [ are the roots of the equation
z® — 9z + 14 = 0, find

(i) a® + B2

o Watch Video Solution



https://dl.doubtnut.com/l/_hGNx621M20e4
https://dl.doubtnut.com/l/_ezC6MDE43LeO
https://dl.doubtnut.com/l/_z06THUL4LZm3

55. If a and S are the roots of the equation
z® — 9z + 14 = 0, find

(ii) (o — B)°.

o Watch Video Solution

56. If a and (B are the roots of quadratic
equation z° + 5z — 1 = 0

then, find (i) &® + 83 (i) a® + B2

o Watch Video Solution



https://dl.doubtnut.com/l/_z06THUL4LZm3
https://dl.doubtnut.com/l/_e21X06tQRuGX
https://dl.doubtnut.com/l/_VI0CCBri2Zvn

57. If o and B are the roots of quadratic
equation z° + 5z — 1 = 0

then, find (i) &® + 83 (i) a® + B2

o Watch Video Solution

58. The difference between the roots of the
equation

2 — 13z + k = 0is 7, find k.

o Watch Video Solution



https://dl.doubtnut.com/l/_VI0CCBri2Zvn
https://dl.doubtnut.com/l/_nnm7gZQXvOvB
https://dl.doubtnut.com/l/_wGwZBLrLlXa4

59. Find k , if the sum of the roots of the
quadratic euqation 4% + 8kz +k +9 =0 is

equal to their product.

o Watch Video Solution

60. If the sum of the roots of the quadratic
equation is 3 and sum of

their cubes is 63, find the quadratic equation.

o Watch Video Solution



https://dl.doubtnut.com/l/_uA9t1EvGvs2e
https://dl.doubtnut.com/l/_wVpYgsNGCTVH

Additional Problems For Practice Based On

Practice Set 2 6

1. The product of Yusuf's age 5 years ago with
his age 9 years later is

176. find Yusuf's present age.

o Watch Video Solution

2. The product of two consecutive positive

number is 182, find the number.

o Watch Video Solution



https://dl.doubtnut.com/l/_HUQ1eTALc7Yj
https://dl.doubtnut.com/l/_oCT83oNeASVP

3. Sanket purchesed a rectangular plot having
area 200m?>. Length of

the plot was 10m more than its breadth. Find
the length and

breadth of the plot.

o Watch Video Solution

4.The length of a rectangle is thrice as long as

the side of a square.


https://dl.doubtnut.com/l/_oCT83oNeASVP
https://dl.doubtnut.com/l/_dZGempKpcgcJ
https://dl.doubtnut.com/l/_vuVEhzKZ648v

The side of the square is 4 cm more than the
width of the rectangle. Their areas being

equal, find their dimensions.

o Watch Video Solution

5. The sum of a number and its reciprocal is

10
3 find the number(s).

° Watch Video Solution



https://dl.doubtnut.com/l/_vuVEhzKZ648v
https://dl.doubtnut.com/l/_3Xg7FBXhmVtG

6. A natural number is greater than the other
by 5. The sum of their squares is 73. find the

numbers.

o Watch Video Solution

7.The divisor and quotient of the number 6123
are same and the remainder is half the divisor.

Find the divisor.

o Watch Video Solution



https://dl.doubtnut.com/l/_6L3ElQVFGvpU
https://dl.doubtnut.com/l/_9OoijmAJejFa
https://dl.doubtnut.com/l/_8BS3b1AdEpox

8. There is a rectangular onion storehouse in
the farm of Mr. Ratnakarrao at Tivasa. The
length of rectangular base is more than its
breadth by 7m and digonal is more than
length by 1 m. Find length and breadth of the

storehouse.

o Watch Video Solution

9. From the same place at 7 a.m. A started
walking in the north at the speed of 4km / hr.

After 1 hours B stated cycling in the east at a


https://dl.doubtnut.com/l/_8BS3b1AdEpox
https://dl.doubtnut.com/l/_Bfg3TrXVi1xN

speed of 8km / hr. At what time they will be at

a distance of 20 km apart from each other?

° Watch Video Solution

10. The denominator of a fraction exceeds its
numerator by 2. If one is added to both
numerator and denominator, the difference
between new and the original fraction is TR

Find the original fraction with positive

denominator.

° Watch Video Solution



https://dl.doubtnut.com/l/_Bfg3TrXVi1xN
https://dl.doubtnut.com/l/_AJkCM1FqyC3D

11. A train, travelling at a uniform speed for
360 km, would have taken

48 minutes less to travel the same distance if
its speed were 5 km/h more. Find the original

speed of the train.

o Watch Video Solution

12. The area of a rectangular playground is 420
sg.m. If its length is increasing by 7m and

breadth is decreased by 5m, the area remains


https://dl.doubtnut.com/l/_AJkCM1FqyC3D
https://dl.doubtnut.com/l/_ctYpq7A4qDyM
https://dl.doubtnut.com/l/_Y1evrO2F18Ed

the same.Find the length and breadth of the

playground.

° Watch Video Solution

13. If the cost of bananas is increased by
rupees 10 per dozen, one can

get 3 dozen less for rupees 600. Find the
original cost of one dozen

of bananas.

° Watch Video Solution



https://dl.doubtnut.com/l/_Y1evrO2F18Ed
https://dl.doubtnut.com/l/_HEqp7qKW2TYe
https://dl.doubtnut.com/l/_GdtRm7kFyjmW

14. Anand takes 9 days more than his father to
do a certain piece of

work. Together they can do the work in 6 days.
How many days will Anand take to do that

work alone?

° Watch Video Solution

15. One tank can be filled up by two taps in 6
hours. The smaller tap

alone takes 5 hours more than the bigger tap


https://dl.doubtnut.com/l/_GdtRm7kFyjmW
https://dl.doubtnut.com/l/_Asv4KgH9CPxh

alone. Find the time required by each tap to fill

the tank separately.

° Watch Video Solution

16. The product of Yusuf's age 5 years ago with
his age 9 years later is

176. find Yusuf's present age.

° Watch Video Solution



https://dl.doubtnut.com/l/_Asv4KgH9CPxh
https://dl.doubtnut.com/l/_CVo6Invlac5u

17. The product of two consecutive positive

number is 182, find the number.

° Watch Video Solution

18. Sanket purchesed a rectangular plot having
area 200m?. Length of

the plot was 10m more than its breadth. Find
the length and

breadth of the plot.

° Watch Video Solution



https://dl.doubtnut.com/l/_EHt6s1BZTtWm
https://dl.doubtnut.com/l/_ntT2iTuuvfPP

19. The length of a rectangle is thrice as long
as the side of a square.

The side of the square is 4 cm more than the
width of the rectangle. Their areas being

equal, find their dimensions.

o Watch Video Solution

20. The sum of a natural number and its

reciprocal is 3 Find the number.

o Watch Video Solution



https://dl.doubtnut.com/l/_ntT2iTuuvfPP
https://dl.doubtnut.com/l/_jJ1oVAKZmomw
https://dl.doubtnut.com/l/_79mIrgcK4TqC

21. A natural number is greater than the other
by 5. The sum of their squares is 73. find the

numbers.

o Watch Video Solution

22. The divisor and quotient of the number
6123 are same and the remainder is half the

divisor. Find the divisor.

o Watch Video Solution



https://dl.doubtnut.com/l/_79mIrgcK4TqC
https://dl.doubtnut.com/l/_pdF42VASExC9
https://dl.doubtnut.com/l/_1Ii4pQrAahEp

23.There is a rectangular onion storehouse in
the farm of Mr. Ratnakarrao at Tivasa. The
length of rectangular base is more than its
breadth by 7m and digonal is more than
length by 1 m. Find length and breadth of the

storehouse.

o Watch Video Solution

24. From the same place at 7 am. A started

walking in the north at the speed of 4km / hr.


https://dl.doubtnut.com/l/_1Ii4pQrAahEp
https://dl.doubtnut.com/l/_u3ce7Amdmasg
https://dl.doubtnut.com/l/_Uhwsy1C94wcU

After 1 hours B stated cycling in the east at a
speed of 8km / hr. At what time they will be at

a distance of 20 km apart from each other?

o Watch Video Solution

25. The denominator of a fraction exceeds its
numerator by 2. If one is added to both
numerator and denominator, the difference
between new and the original fraction is TR

Find the original fraction with positive

denominator.

| |


https://dl.doubtnut.com/l/_Uhwsy1C94wcU
https://dl.doubtnut.com/l/_SaSGsP8VK3Ek

& Wwatch Video Solution I

26. Solve the following questions.

(i) A train travels 360 km with uniform speed.
The speed of the train

is increased by 5km /hr, it takes 48 minutes
less to cover the same distance. Find the initial

speed of the train.

o Watch Video Solution



https://dl.doubtnut.com/l/_SaSGsP8VK3Ek
https://dl.doubtnut.com/l/_J06fw6SUl6D1

27. The area of a rectangular playground is
420 sq.m. If its length is increasing by 7m and
breadth is decreased by 5m, the area remains
the same.Find the length and breadth of the

playground.

o Watch Video Solution

28. If the cost of bananas is increased by
rupees 10 per dozen, one can

get 3 dozen less for rupees 600. Find the


https://dl.doubtnut.com/l/_qy18Qj5dxlDP
https://dl.doubtnut.com/l/_cYzzUU5uhqVN

original cost of one dozen

of bananas.

° Watch Video Solution

29. Anand takes 9 days more than his father to
do a certain piece of

work. Together they can do the work in 6 days.
How many days will Anand take to do that

work alone?

° Watch Video Solution



https://dl.doubtnut.com/l/_cYzzUU5uhqVN
https://dl.doubtnut.com/l/_AiCqMH7KVK7v
https://dl.doubtnut.com/l/_INXtsk3BAc0T

30. One tank can be filled up by two taps in 6
hours. The smaller tap alone takes 5 hours
more than the bigger tap alone. Find the time

required by each tap to fill the tank separately.

o Watch Video Solution

Chapter Assessment

1. Choose the correct alternative.
(i) Which of the following is a quadratic

equation?


https://dl.doubtnut.com/l/_INXtsk3BAc0T
https://dl.doubtnut.com/l/_uUdExRC6WCbI

A@az2+3c+1=(z—2)°
B.(b) (z +1)* = 5(z — 9)
C.z>—1=0

D.(d)5x +9 =0

Answer:

o Watch Video Solution

2. Choose the correct alternative.

(ii) If one root of the quadratic equation


https://dl.doubtnut.com/l/_uUdExRC6WCbI
https://dl.doubtnut.com/l/_j4poYHtzdxOX

322 — 12z + k = 0is 3,
then the value of k is

A (a) 6

B.(b) — 6

C.(0)9

D.(d) —9

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_j4poYHtzdxOX

3. Choose the correct alternative.
(i)  Which of the following quadratic
equations has roots — 2, 5?7

A (a) 22 — 3z + 10

B.(b) z? — 3z — 10

C.(c)z?—10z +9

D.(d) z?> — 10z — 9

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_MqIbOm8r9fMY

4. Solve the following question.
(i) Find the value of k for which the roots of
quadratic equation kz? + 2z + 3 = 0 are real

and equal.

o Watch Video Solution

5. Solve the following question.
(i1) For the quadratic equation
m? + 5m — 14 = 0, check whether m = 3

and m = — 7 arethe roots or not ?

| & I


https://dl.doubtnut.com/l/_DvwaE2duyEbK
https://dl.doubtnut.com/l/_lZfqjMF5nCQ1

| ¥ Watch Video Solution |

6. Complete the following activities.
(1) Classify the following polynominals as linear
and quadratic polynominals:

8x —1,3z%, 52° + 3z + 2,2 — 2

_Linear polynomials Quadratic polynomials

o Watch Video Solution



https://dl.doubtnut.com/l/_lZfqjMF5nCQ1
https://dl.doubtnut.com/l/_JPWY0NiRcHqK

7. Complete the following activities.

(ii) fill in the blanks

Ve " Value of ‘
" discriminant Nature of roots
50 —

o Watch Video Solution

8. If one root of the quadratic equation

2
3y2—ky+8:Ois§,


https://dl.doubtnut.com/l/_8LE5eNpEDlFE
https://dl.doubtnut.com/l/_PT67GASaBLT7

find the value of k.

o Watch Video Solution

9. Solve the following questions
(i) Solve the following quadratic equation by

factroisation method.

2 — 17z + 60 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_PT67GASaBLT7
https://dl.doubtnut.com/l/_hHXJpcZIJaUI

10. Solve the following questions
(iii) Determine the nature of the roots of the

quadratic equation 3z* 4+ 9z + 4 = 0.

o Watch Video Solution

11. Solve the following questions
(iv) Form the quadratic equation, if its roots

are band — 7.

o Watch Video Solution



https://dl.doubtnut.com/l/_XGVzV722Xbcb
https://dl.doubtnut.com/l/_8yVBWi5F3mtc
https://dl.doubtnut.com/l/_mSI8Eb7S7LNA

12. Solve the following questions.
(i) Solve the following qudratic equation by
completing square:

dm? —12m = — 7

o Watch Video Solution

13. Solve the following questions.

(i) Find k, if the sum of the roots of the
qudratic equation
3z — (3k — 2)x — (k — 6) = 0 is equal to

their product.


https://dl.doubtnut.com/l/_mSI8Eb7S7LNA
https://dl.doubtnut.com/l/_PkCouJmw4vW1

° Watch Video Solution

14. The product of two consecutive natural

number is 132.find the numbers

o Watch Video Solution

15.1f a+ 8 =05 and o’ + B° = 35, find the
quadratic equation

whose roots are a and S.

o Watch Video Solution



https://dl.doubtnut.com/l/_PkCouJmw4vW1
https://dl.doubtnut.com/l/_icGWaTgcok7N
https://dl.doubtnut.com/l/_jheVo7mYODzu

16. Solve the following questions.

(i) Suppose height of a right angled triangle is
1less than two times

its base. It's hypotenuse is 7 less than 3 times
its base. Find all the

sides of the right angled triangle.

° Watch Video Solution

17. Solve the following questions.

(i) The roots of the equation


https://dl.doubtnut.com/l/_jheVo7mYODzu
https://dl.doubtnut.com/l/_7ytCbljdhaPY
https://dl.doubtnut.com/l/_t2y8leZZhVFn

z? — 3ax + b = 0 differ by 4, then

show that 9a® = 4b + 16.

° Watch Video Solution

18. Solve the following questions.
() Find the roots of the equation

2 — 2z —3=0 by solving graphically.

° Watch Video Solution



https://dl.doubtnut.com/l/_t2y8leZZhVFn
https://dl.doubtnut.com/l/_zpwcsA1mVPYx

19. Solve the following questions.

(i) A train travels 360 km with uniform speed.
The speed of the train

is increased by 5km /hr, it takes 48 minutes
less to cover the same distance. Find the initial

speed of the train.

o Watch Video Solution

20. Choose the correct alternative.

() Which of the following is a quadratic


https://dl.doubtnut.com/l/_hxL1V1cAuFMM
https://dl.doubtnut.com/l/_2Pc1MhXZLYMq

equation?

Azl +3z+1=(z—2)°

B.(z + 1) = 5(z — 9)

Cxl—1=0
D.52 +9 =0
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_2Pc1MhXZLYMq

21. Choose the correct alternative.
(i) If one root of the quadratic equation
3z — 12z + k= 0is 3,

then the value of k is

A. 6

Answer:

l o Wiak hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_h4G0CuU6SY5E

VVCILLIL VI INAGINIE L J

22. Choose the correct alternative.
(i)  Which of the following quadratic

equations has roots — 2, 5?7

A. 2 — 3z + 10
B.z2 — 3z — 10
C.z?—10x + 9

D.z2 — 10z — 9

Answer:



https://dl.doubtnut.com/l/_h4G0CuU6SY5E
https://dl.doubtnut.com/l/_UYcAbg4fhIqX

| ¥ Watch Video Solution ]

23. Choose the correct alternative.
(iv) For v/3z* — 24/2z — 2,/3 = 0, the value
of the discriminant is

A. 24

B.—24

C.32

D. —32

Answer:



https://dl.doubtnut.com/l/_UYcAbg4fhIqX
https://dl.doubtnut.com/l/_TZiH3AjNrFQq

\ o Watch Video Solution

24. Solve the following question.
(i) Find the value of k for which the roots of
quadratic equation kz* + 2z + 3 = 0 are real

and equal.

° Watch Video Solution

25. Solve the following question.

(i1) For the quadratic equation


https://dl.doubtnut.com/l/_TZiH3AjNrFQq
https://dl.doubtnut.com/l/_kb8EvQXSARgz
https://dl.doubtnut.com/l/_lpbpsG9bfNAU

m? + 5m — 14 = 0, check whether m = 3

and m = — 7 are the roots or not ?

° Watch Video Solution

26. Complete the following activities.
(1) Classify the following polynominals as linear
and quadratic polynominals:

8¢ —1,3z%, 522 +3x + 2,2 — 2

_Linear polynomials Quadratic polynomials

o Watch Video Solution



https://dl.doubtnut.com/l/_lpbpsG9bfNAU
https://dl.doubtnut.com/l/_I2t5nhnVOQbO

27. Complete the following activities.

(ii) fill in the blanks

Ve " Value of :
\_  discriminant Nature of roots

50 —
-30 —
0 R

o Watch Video Solution



https://dl.doubtnut.com/l/_I2t5nhnVOQbO
https://dl.doubtnut.com/l/_12eKmQQGGxv1

28. If one root of the quadratic equation
2
3y —ky+8=0is 3 then find the value of

k.

o Watch Video Solution

29. Solve the following questions
(i) Solve the following quadratic equation by
factroisation method.

2 — 17z + 60 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_k3Mqws2ufDkN
https://dl.doubtnut.com/l/_XECbCQHjZ6gI

30. Solve the following questions
(iii) Determine the nature of the roots of the

quadratic equation 3z* + 9z + 4 = 0.

° Watch Video Solution

31. Solve the following questions
(iv) Form the quadratic equation, if its roots

are b and — 7.

° Watch Video Solution



https://dl.doubtnut.com/l/_XECbCQHjZ6gI
https://dl.doubtnut.com/l/_z1bCmOkMdPtT
https://dl.doubtnut.com/l/_SU5QrOwZchVV

32. Solve the following questions.
(i) Solve the following qudratic equation by
completing square:

dm? —12m = — 7

o Watch Video Solution

33. Solve the following questions.
(i) Find k, if the sum of the roots of the

qudratic equation


https://dl.doubtnut.com/l/_LmjqPqadteIA
https://dl.doubtnut.com/l/_idS3dOkgGrCh

322 — (3k — 2)z — (k—6) =0 is equal to

their product.

° Watch Video Solution

34. The product of two consecutive natural

number is 132.find the numbers

o Watch Video Solution

35.1f a + 38 =5 and o + B° = 35, find the

quadratic equation


https://dl.doubtnut.com/l/_idS3dOkgGrCh
https://dl.doubtnut.com/l/_NURgG6joTYiz
https://dl.doubtnut.com/l/_UAPnpdJ5Uyb7

whose roots are a and S.

o Watch Video Solution

36. Solve the following questions.

(i) Suppose height of a right angled triangle is
1less than two times

its base. It's hypotenuse is 7 less than 3 times
its base. Find all the

sides of the right angled triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_UAPnpdJ5Uyb7
https://dl.doubtnut.com/l/_SFUJFriDKxzC
https://dl.doubtnut.com/l/_48jOwSPIaiKT

37. Solve the following questions.
(i) The roots of the equation
x> — 3az + b = 0 differ by 4, then

show that 9a? = 4b + 16.

o Watch Video Solution

38. Solve the following questions.
() Find the roots of the equation

z? — 2z — 3 = 0 by solving graphically.

o Watch Video Solution



https://dl.doubtnut.com/l/_48jOwSPIaiKT
https://dl.doubtnut.com/l/_Ir87aZUsSxfX

39. Solve the following questions.

(i) A train travels 360 km with uniform speed.
The speed of the train

is increased by 5km /hr, it takes 48 minutes
less to cover the same distance. Find the initial

speed of the train.

o Watch Video Solution



https://dl.doubtnut.com/l/_Yyf4NtxuTINa

